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��-�� �$����� $���$�����/ 

$>=<D>64=<5 3 >><D>DF=4O ?D>F54GD4, 6O?>?=O5<4O 
?>?L7>64F5?5< E4<>EF>OF5?L=> E ?><>MLN ?D>EFOE 6 >5D4M5=<< 
6<5D>4>GEF<G5E><E 4??4D4F>6. �5M4O F5?L D>=<D>64=<O 3 
>55E?5G<FL >D74=<7< M=5D7<5= <<>D>6<5D4F<< 6 >5?4EFOE, 745 
<<55FEO =54>EF4F>> E>5EF65==>= <<>D>6<5D4F<<. $>=<D>64=<5 
>EGM5EF6?O5FEO ?> <5F>4<>4<, >>F>DO5 6>?NG4NF 6 E55O ?5D5G5=L 
>5?4EF5= 6>745=EF6<O, ?D>4>?6<F5?L=>EFL < <>M=>EFL 
6>745=EF6<O =4 >5?4EFL, ?5D<>4<G=>EFL ?D>6545=<O ?D>F54GD. 

��������! �?O 6O5>D4 <5F>4<>< D>=<D>64=<O =5>5E>4<<> 
?D46<?L=> GEF4=>6<FL 4<47=>7, 4 F4>65 6OO6<FL >5?4EF<, 6E>4OM<5 
6 ?5D5G5=L ?D>F<6>?>>474=<=. 

�D>F<6>?>>474=<O 4?O D>=<D>64=<O 

$>=<D>64=<5 =5 D5>><5=4G5FEO ?D>6>4<FL 6 ?5D<>4 >EFD>7> 
D476<F<O <=D5>F<>==>7> 745>?564=<O < ?D< 6OE>>>= (6OL5 38,5°%) 
F5<?5D4FGD5. �> 7465DL5=<< >EFD>= D47O 745>?564=<O, 
65?4F5?L=> ?D>=F< D>=<D>64=<5 ?> <5F>4<>5 >5M5= D5EGDE=>= 
?>445D6>< >D74=<7<4 (�$��) (EFD. 8). 
� =4EF>OM55 6D5<O >EF4NFEO =5 <EE?54>64==O<< < ?>F><G 

>F=>EOFEO > ?D>F<6>?>>474=<O< E?54GNM<5 >5?4EF<:  

1) 7?>>4G5EF65==OE =>6>>5D47>64=<=, 

2) 6OD465==>7> 4F5D>E>?5D>74, 

3) D4E?>?>65=<O ??>44 ?D< 55D5<5==>EF<,  

4) FD><54 ?D< FD><5>D?55<F5, 

5) <<??4=F<D>64==>7> >4D4<>EF<<G?OF>D4, 

6) 65?G=>7> ?G7ODO ?D< =4?<G<< 6 =5< >4<=5=.  

$>=<D>64=<5 ?D>F<6>?>>474=> =4 D4EEF>O=<< 5?<65 10 E< >F 
E>>F65FEF6GNM<E >5?4EF5=, => =5 <E>?NG45F 6>7<>6=>EFL 
?D>6545=<O D>=<D>64=<O 6 4DG7<E >5?4EFOE. 
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�5?4EF< 6>745=EF6<O <<>D>6<5D4F<5= 

�5?4EF< 6>745=EF6<O <7>5D465=O =4 >5?>6>5 (D<E. 1, 8), 4 F4>65 
=4 F65F=>< 6>?44OL5 6 E5D54<=5 (D<E. 2-7). �?<E4=<5 =5>>F>DOE 
>5?4EF5= 6>745=EF6<O 44=> =5?>ED54EF65==> 6 F5>EF5. 
�D4>F<G5E>< 6E5 <5F>4<>< D>=<D>64=<O 4?O D47?<G=OE 

745>?564=<= < ?D>5?5<=OE E>EF>O=<= ?><<<> >5?4EF< 
?4F>?>7<</5>?< 6>?NG4NF 6 E55O >5?4EF< ?5G5=< (�), ?>G5> (�) < 
?>76>=>G=<>4 (57> E57<5=F>6). &4>>= ?>4E>4 > E>EF46?5=<N 
<5F>4<> 5O? 6OD45>F4= <=>7>?5F=5= ?D4>F<>>=. �>EEF4=>6?5=<5 
>5?4EF< 745>?564=<O ?D><EE>4<F 74 EG5F D5EGDE>6 6E57> 
>D74=<7<4, >>F>DO5, 6 G4EF=>EF<, 746<EOF >F E>EF>O=<O ?5G5=<, 
?>G5> < ?>76>=>G=<>4. 

$>=<D>64=<5 >5?4EF< ?5G5=< (�) E?>E>5EF6G5F G?GGL5=<N 55 
DG=>F<<, ?D5?OFEF6GO =4>>??5=<N 6 >D>6< F>>E<G=OE < 4DG7<E 
65M5EF6, ?>4?564M<E D47?>65=<N 6 ?5G5=<. �5G5=L, 6 E<?G E6><E 
>E>55==>EF5=, ?D4>F<G5E>< =5 <<55F <OL5G=OE ?D>E?>5>. 
�EF>G=<>>< <<>D>6<5D4F<< 4?O ?5G5=< O6?O5FEO F>=GE 65?G=>7> 
?G7ODO, =4?>?>6<=G D4E?>?>65==>7> 6=GFD< ?5G5=<, F>=GE 6>D>F=>= 
65=O ?5G5=<, 46<65=<5 4<4DD47<O < ?G?LE4F<< ?5G5=>G=OE 
4DF5D<=. �>E>>?L>G <<>D>6<5D4F<O ?GGL5 ?5D5445FEO G5D57 
6<4><5 ED54O, F> >5OG=> D>=<DGNF ?D>5>F<N 65?G=>7> ?G7ODO < 
6>D>F=>= 65=O =4 6<6>F (>5?4EFL �, D<E. 1). 

$>=<D>64=<5 >5?4EF< ?>G5> (�) G?GGL45F <E DG=>F<N ?> 
?>445D64=<N ><E?>F=>-M5?>G=>7> 54?4=E4 >D>6< < 55 >G<EF>5 >F 
?D>4G>F>6 4>F<6=>EF< <OL5G=OE >?5F>>. '5D57 40 <<=GF ?>E?5 
6>745=EF6<O <<>D>6<5D4F<< =4 >5?4EFL ?>G5> (�) G65?<G<64NFEO 
E>5EF65==O5 <<>D>6<5D4F<< < ?>6OL45FEO D45>F>E?>E>5=>EFL. 
�EF>G=<>>< <<>D>6<5D4F<< 4?O ?>G5> O6?O5FEO <OL5G=O= E?>= 
?>G5G=>= ?>E4=><, <OL5G=O= E?>= <>G5F>G=<>4 < ?D<?574NM<5 
<OLFO E?<=O. �>MF><G =4 >5?4EFL ?>G5> 6>745=EF6GNF E> EF>D>=O 
E?<=O 6 ?D>5>F<< ?>G5G=>= ?>E4=>< 5?<65 > <>G5F>G=<>G (>5?4EFL 
�, D<E. 4).  

$>=<D>64=<5 >5?4EF< ?>76>=>G=<>4 E=<<45F >F5>, GE>>DO5F 
6>EEF4=>6?5=<5 M=5D75F<G5E>>7> ?>F5=F<4?4 <OL5G=OE < =5D6=OE 
>?5F>>, E?>E>5EF6G5F >>EF=><>77>6><G >D>65F6>D5=<N < 
>5>74M5=<N >D>6< 7D5?O<< EF6>?>6O<< >?5F>4<< (?4F5=F $>EE<< 
7 2166924). �?O 6>EEF4=>6?5=<O <OLF E?<=O 6>745=EF6GNF E?564 
< E?D464 >F ?>76>=>G=<>4. �?O G>D5??5=<O <56?>76>=>G=OE 4<E>>6, 
G?GGL5=<O >D>6>E=4565=<O E?<==>7> < >>EF=>7> <>774 
6>745=EF6GNF =4 F5=FD4?L=O5 >FD>EF>< ?>76>=>>6 (D<E. 4). 
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�4>D>6L5 ?>76>=>G=<>4 F4>65 GD576OG4==> 646=> 4?O 74>D>6LO 
6E57> >D74=<7<4. � =5< =4E>4<FEO >>EF=O= <>77, >55E?5G<64NM<= 
>D>6L MD<FD>F<F4<< < EF6>?>6O<< >?5F>4<<. '5D57 ?>76>=>G=<> 
?D>E>4OF 6E5 =5D6=O5 ?GF<, G?D46?ONM<5 6=GFD5==<<< >D74=4<< < 
<OL5G=O<< EFDG>FGD4<<. �=>7<5 E?5F<4?<EFO EG<F4NF, GF> 
5>?LL<=EF6> ED>=<G5E><E 5>?57=5= =4G<=45FEO E ?D>5?5<O 6 
>4>><-F> E57<5=F5 ?>76>=>G=<>4. 
�><?5=E4F<O 45D<F<F4 <<>D>6<5D4F<< 6 >5?4EF< ?>G5> (�), 

?5G5=< (�) < ?>76>=>G=<>4 ?D<<5=O5FEO, 4465 5E?< =5F 
=<>4>>= ?4F>?>7<<, 6 F5?OE >5M57> G>D5??5=<O >D74=<7<4 < 
?D>D<?4>F<>< 745>?564=<=. �4 E6>= G=<65DE4?L=O= E<EF5<=O= 
E4D4>F5D F4>>= >><??5>E ?>?GG<? =4764=<5 >5M5= D5EGDE=>= 
?>445D6>< >D74=<7<4 (�$��). �5F>4<>4 D>=<D>64=<O 4?O F5?5= 
�$�� ?D<6545=4 =4 EFD. 8. 

$>=<D>64=<5 >5?4EF< ?4F>?>7<< EGM5EF65==> G65?<G<645F 
E>>D>EFL G44?5=<O L?4>>6, G<5=LL45F >F5>, GE<?<645F 
>4?<??OD=O= >D>6>F>> < <<<G==O5 D54>F<<. 
% GG5F>< 6OL5<7?>65==>7> ?D< ?D>6545=<< ?D>F54GD 

D>=<D>64=<O E?54G5F: 
1) E>5?N44FL ?>E?54>64F5?L=>EFL 6>745=EF6<O =4 

>5?4EF<, G>474==O5 6 <5F>4<>4E D>=<D>64=<O, >>F>DO5, >4> 
?D46<?>, =4G<=4NFEO E D>=<D>64=<O >5?4EF< ?>G5> (�) < ?5G5=< 
(�). � ?5D6GN >G5D54L =5>5E>4<<> G65?<G<FL >5M<5 D5EGDEO 
>D74=<7<4, < G65 6> 6F>DGN >G5D54L >55E?5G<FL <<>D>6<5D4F<5= 
>5?4EFL ?4F>?>7<<; 

2) =5 <E>?NG4FL <7 <5F>4<>< D>=<D>64=<O >5?4EF< 
6>745=EF6<O (?D< >FEGFEF6<< ?D>F<6>?>>474=<= <?< >E>5OE 
D5>><5=44F<=). 

�>M=>EFL 6>745=EF6<O 

�>M=>EFL (4<??<FG44) <<>D>6<5D4F<< >4=>6D5<5==> E G4EF>F>= 
>>?554=<= >?D545?O5FEO 6O5D4==O< D56<<><. $56<< 2 
D4EE<4FD<645FEO >4> 5>?55 <>M=O= ?> ED46=5=<N E D56<<>< 1. 
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�E>55==>EF< D>=<D>64=<O =5>>F>DOE >5?4EF5= 

�D< ?D>6545=<< ?D>F54GD D>=<D>64=<O =5>5E>4<<> <<5FL 6 
6<4G: 

1) ?D< >?GM5=<< ?>G5> 6> 6E5E E?GG4OE, >>744 6 EE5<4E 
G>474=O F>G>< K, 6<5D>D>=O GEF4=46?<64NF =4 >5?4EFL 
>?GM5==>7> D4E?>?>65=<O ?>G5>;  

2) ?D< =4?<G<< >DG?=OE >4<=5= (5>?55 4 <<) 6 ?>G>4E 
D>=<D>64=<5 E?54G5F ?D>6>4<FL ?D< 4>EFG?=>EF< <54<F<=E>>= 
?><>M<. �>745=EF6<5 <<>D>6<5D4F<5= =5 <>65F EFD>=GFL >DG?=O5 
>4<=<, >4=4>> >=< <>7GF =4G4FL >FE>4<FL ?> 4DG7<< ?D<G<=4<, 
?>MF><G <>65F ?>FD55>64FLEO <54<F<=E>4O ?><>ML. '5< D4=LL5 
>4<=< >F>=4GF, F5< ?GGL5; 

3) ?D< =4?<G<< >4<=5= 6 65?G=>< ?G7OD5 <?< 5E?< >= G44?5=, 
F> 6> 6E5E E?GG4OE, >>744 6 EE5<4E G>474=O F>G>< M, <E 74<5=ONF =4 
�5;  

4) ?D< =4?<G<< F>?L>> >4=>= ?>G>< >54 6<5D>D>=4 
GEF4=46?<64NF 6 >5?4EF< MF>= ?>G>< 3 ?5D6O= =4 F>G>G �, 6F>D>= 3 
6 ?D>5>F<< <>G5F>G=<>4 (?>4 ?5D6O< 6<5D>D>=><). 

�D46<?4 GEF4=>6>< 6<5D>D>=>6 

�D5>5D47>64F5?L, E ?><>MLN >>F>D>7> ?5D544NFEO 
<<>D>6<5D4F<< ?D< >>=F4>F5 E F5?><, =47O645FEO 6<5D>D>=><. 
�<5D>D>=O ?D<>?44O64NF <5<5D4=4<< > ?>65DE=>EF< F5?4 G5D57 
<4D?56GN, 5G<46=GN <?< E?>?G4F>5G<46=GN E4?D5F>G. 
�<5D>D>=O >D5?OF E ?><>MLN M?4EF<G=>7> 5<=F4, E?5F<4?L=OE 
D<>E<DGNM<E <4=65F 4?O 4??4D4F>6 E5D<< «�<F4D>=», 
G45D6<64NF DG>4<< <?< ?D<6<<4NF E>5EF65==O< 65E>< (=4?D<<5D, 
?564 =4 E?<=5). �>65DE=>EF< <5<5D4= 4>?6=O ??>F=> ?D<?574FL > 
F5?G. �D<F5D<5< ?D46<?L=>EF< =4?>65=<O E?G6<F <4>E<<4?L=>5 
>MGM5=<5 <<>D>6<5D4F<< =4 =<7>>= G4EF>F5 (>>744 76G> =4<5>?55 
=<7><=). �5 E?54G5F E GD57<5D=O< GE<?<5< ?D<6<<4FL <5<5D4=O > 
F5?G. -F> ?D<6545F > ?D5>D4M5=<N <<>D>6<5D4F<< < >FEGFEF6<N 
6>EEF4=>6<F5?L=>7> MDD5>F4. 
�<5D>D>=O, >4> ?D46<?>, GEF4=46?<64NF ?> 464 =4 >5?4EFL. �D< 

MF>< 6<5D>D>=O <>7GF D4E?>?474FLEO =4 ?N5>< D4EEF>O=<< 4DG7 >F 
4DG74 (5E?< <E D4E?>?>65=<5 =5 >?D545?5=> <5F>4<>>=), >4> 6 >4=>= 
??>E>>EF<, F4> < ?>4 =5>>F>DO< G7?>< 4DG7 > 4DG7G (=4?D<<5D, ?D< 
D>=<D>64=<< EGEF46>6). �?G5<=4 6>745=EF6<O >F ??>E>>EF< 
<5<5D4=O 6<5D>D>=4 67?G5L F>4=5= E>EF46?O5F 10 E<.  
�D< E<?L=>< ?>6D5645=<< F>4=5= (>6>7, >F<>D>65=<5, =4DO6 < 

F.?.) ?D< D>=<D>64=<< E>>F65FEF6GNM5= >5?4EF< 6<5D>D>=O 
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GEF4=46?<64NF =4 74654><> 74>D>6GN G4EFL, ?D<?574NMGN > 
?>6D5645==>= F>4=<. -F> =5>5E>4<<> 4?O F>7>, GF>5O <75564FL 
<7?<L=57> ?>EFG??5=<O L?4>>6 6 >D>6L ?>4 6>745=EF6<5< 
<<>D>6<5D4F<< <7 ?>D465==>= >5?4EF<. �> <5D5 6>EEF4=>6?5=<O, 
>5?4EFL D>=<D>64=<O ?D<5?<64NF > >D4N >5?4EF< ?4F>?>7<<. 
�E?< =5F E?5F<4?L=OE G>474=<=, D>=<D>64=<5 ?D>6>4OF 6 

?>?>65=<< ?564 =4 E?<=5 <?< E<4O. 

�D5<O 6>745=EF6<O < G4EF>F4 ?D>F54GD 

�5F>4<>< D>=<D>64=<O 6>?NG4NF 6 E55O D5>><5=4G5<>5 
>>?<G5EF6> ?D>F54GD < 6D5<O 6>745=EF6<O =4 >5?4EFL. �D< 
6O?>?=5=<< <5F>4<> =5>5E>4<<> ?D<45D6<64FLEO E?54GNM<E 
?D46<?. 

1) �465 >4=4 <<=GF4 D>=<D>64=<O ?>?57=4 4?O >D74=<7<4, 
?>MF><G, 5E?< 5EFL 6D5<5==O5 >7D4=<G5=<O, <5F>4<>G 6O?>?=ONF 
G4EF<G=>, ?D>?>DF<>=4?L=> G<5=LL4O 6D5<O D>=<D>64=<O >464>= 
>5?4EF< (=5 E>>D4M4O ?5D5G5=L >5?4EF5= 6>745=EF6<O).  

2) �5 D5>><5=4G5FEO ?D56OL4FL 4>EF4F>G=>5 6D5<O 3 
=4<5>?LL55 6D5<O, G>474==>5 6 ?>E?54=5= EFD>>5 EE5< 
D>=<D>64=<O 4?O >>=>D5F=>= >5?4EF<.  

3) '5< 5>?LL5 ?D>F54GD ?D>6>4<FEO 6 EGF>< < 6 =545?N, F5< 
5OEFD55 4>EF<745FEO D57G?LF4F. �D< MF>< ?D< G65?<G5=<< =47DG7>> 
(EFD5EE, >E?4645=<5, D<7<G5E>>5 GF><?5=<5 < F.4.) D5>><5=4G5FEO 
?D>6>4<FL 4>?>?=<F5?L=O5 ?D>F54GDO. 

4) -DD5>F >F >4=>= ?D>F54GDO E>ED4=O5FEO >>>?> 2 G4E>6, 
?>MF><G E?54GNMGN ?D>F54GDG F5?5E>>5D47=> ?D>6>4<FL =5 
D4=55, G5< G5D57 2 G4E4. �E?< 6 <5F>4<>5 D>=<D>64=<O 6D5<O 
6>745=EF6<O =4 >5?4EFL ?>G5> (�) E>EF46?O5F 5>?55 30 <<=GF, F> 
E?54GNMGN ?D>F54GDG D>=<D>64=<O >5?4EF< ?>G5> (�) 
D5>><5=4G5FEO ?D>6>4<FL =5 D4=55, G5< G5D57 4 G4E4. 

5) �5F>4<>< D>=<D>64=<O ?>EFD>5=O F4><< >5D47><, GF>5O 
6D5<O D>=<D>64=<O G65?<G<64?>EL ?>EF5?5==> ?> 4=O< >F 
=4G4?L=>7> 4> 4>EF4F>G=>7> < 44?55 =5 <5=O?>EL. �5 
D5>><5=4G5FEO <5=OFL F5<? G65?<G5=<O 6D5<5=< ?> ED46=5=<N E 
<5F>4<>>=, ?>E>>?L>G MF> <>65F 6O764FL 7=4G<F5?L=GN =47DG7>G =4 
>D74=O, >G<M4NM<5 >D>6L >F L?4>>6. � E<?G <=4<6<4G4?L=>EF< 
E>EF>O=<O >464>7> >D74=<7<4, F5<? =45>D4 4>7O <>65F 5OFL 
G<5=LL5= 4?O 5>?LL5= >><D>DF=>EF< 6>EEF4=>6<F5?L=>7> 
?D>F5EE4. 'E>>DOFL F5<? G65?<G5=<O 6D5<5=< D>=<D>64=<O ?> 
ED46=5=<N E <5F>4<>>= <>6=> F>?L>> 6 6>7D4EF5 4> 30 ?5F (?D< 
>FEGFEF6<< E5DL57=OE < ED>=<G5E><E 745>?564=<=). �E?< <<55FEO 
=5E>>?L>> 745>?564=<=, F> 6O5<D4NF >4=G <5F>4<>G D>=<D>64=<O 
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4?O =4<5>?55 55E?>>>OM5= ?D>5?5<O.  
6) �E?< D>=<D>64=<5 >4>>=-?<5> >5?4EF< D4=55 G65 

?D>6>4<?>EL, ?D< MF>< ?5D5DO6 E>EF46<? =5 5>?55 1 <5EOF4, F> 
?D< ?5D5E>45 > D>=<D>64=<N ?> 4DG7>= EE5<5 4?O MF>= 65 >5?4EF< 
<>6=> =4G<=4FL =5 E ?5D6>7> 4=O EE5<O, 4 <EE>4O <7 4>EF<7=GF>7> 
4>EF4F>G=>7> 4?O MF>= >5?4EF< 6D5<5=<. 

�D>4>?6<F5?L=>EFL >GDE4  

$>=<D>64=<5 6O?>?=O5FEO >GDE4<<. �E=>6=>= >GDE D>=<D>64=<O 
?D54?>?4745F 5>?LL>5 >>?<G5EF6> ?D>F54GD, >4> ?D46<?>, =5E>>?L>> 
D47 6 EGF>< 5-7 4=5= 6 =545?N (G>474=> 6 <5F>4<>4E). �E?< 6 
<5F>4<>5 =5 G>474=4 ?D>4>?6<F5?L=>EFL >E=>6=>7> >GDE4, F> 
G4EF>5 D>=<D>64=<5 ?D>4>?64NF 4> ?>?=>7> 6O74>D>6?5=<O <?< 
4>EF<65=<O 65?45<>7> D57G?LF4F4. � 746<E<<>EF< >F E4D4>F5D4, 
FO65EF< 745>?564=<O < 4>F<6=>EF< D>=<D>64=<O D57G?LF4F 
4>EF<745FEO >F =5E>>?L><E 4=5= 4> =5E>>?L><E <5EOF56.  
�E?< ?>?=>5 6O74>D>6?5=<5 =5 =4EFG?45F <?< =56>7<>6=> (6 

746<E<<>EF< >F 745>?564=<O), F> G5D57 3 <5EOF4 6 >E=>6=>< >GDE5 
45?4NF ?5D5DO6 =5 <5=55 G5< 6 5 4=5= (=> =5 5>?55 1 <5EOF4), 5E?< 
<=>= ED>> =5 G>474= 6 <5F>4<>5 D>=<D>64=<O.  
�E?< 6 F5G5=<5 >4=>7> <5EOF4 =5 >MGM45FEO =<>4><E <7<5=5=<= 

6 >D74=<7<5, =5>5E>4<<> ?D>65D<FL <E?D46=>EFL 4??4D4F4, GF>G=<FL 
4<47=>7, ?5D6>?D<G<=G 745>?564=<O < EE5<G D>=<D>64=<O. 
�D< 4>EF<65=<< 65?45<>7> D57G?LF4F4 >F >E=>6=>7> >GDE4 

?5D5E>4OF > ?>445D6<64NM<< ?D>F54GD4<, F> 5EFL G<5=LL4NF 
>>?<G5EF6> ?D>F54GD 6 EGF>< < 6 =545?N ?> ED46=5=<N E >E=>6=O< 
>GDE><. �>445D6<64NM<5 ?D>F54GDO ?D>6>4OFEO =4 4>EF<7=GF>< 
4>EF4F>G=>< 6D5<5=< 4?O >5?4EF5= 6>745=EF6<O (6D5<O, G>474==>5 
6 ?>E?54=5= EFD>>5 EE5<). $5>><5=4G5<>5 >>?<G5EF6> 
?>445D6<64NM<E ?D>F54GD 4?O ?D>D<?4>F<>< >>=>D5F=>7> 
745>?564=<O G>474=> 6 <5F>4<>4E, 4 5E?< =5 G>474=> 3 
?>?L7>64F5?L E4< 6O5<D45F <E >>?<G5EF6> E GG5F>< 6<7=5==OE 
>5EF>OF5?LEF6, => 65?4F5?L=> =5 <5=55 1 ?D>F54GDO 6 =545?N. 
�D< G65?<G5=<< D5EGDE=OE FD4F (EFD5EE, >E?4645=<5, D<7<G5E>>5 
GF><?5=<5 < F.4.) D5>><5=4G5FEO ?D>?>DF<>=4?L=> G65?<G<FL 
>>?<G5EF6> ?>445D6<64NM<E ?D>F54GD 6 =545?N. 
�>445D6<64NM<5 ?D>F54GDO <>7GF ?D>6>4<FLEO >4> ?> EE5<5 
D>=<D>64=<O 4?O >>=>D5F=>7> 745>?564=<O, F4> < ?> EE5<5 �$�� 
(EFD. 8). 
�><<<> ?>445D6<64NM<E ?D>F54GD 4?O G?GGL5=<O D57G?LF4F4 

(6 G4EF=>EF< ?D< ED>=<G5E><E 745>?564=<OE) >E=>6=O5 >GDEO 
D>=<D>64=<O ?>6F>DONF. �D< MF><, 5E?< ?5D5DO6 6 D>=<D>64=<< 



7 

E>EF46<F <5=55 1 <5EOF4 (E GG5F>< ?>445D6<64NM<E ?D>F54GD), F> 
?D>F54GDO ?D>6>4OFEO ED47G =4 4>EF4F>G=>< 6D5<5=< (6D5<O, 
G>474==>5 6 ?>E?54=5= EFD>>5 EE5<).  
� F5?><, D5>><5=4G5FEO D57G?OD=>5 D>=<D>64=<5 6 F5?OE 

?D>D<?4>F<>< =5746<E<<> >F =5>5E>4<<>EF< ?5G5=<O >>=>D5F=>7> 
745>?564=<O. $>=<D>64=<5 E?>E>5EF6G5F 5>?55 ?>?=><G 
6>E?>?=5=<N D5EGDE>6 >D74=<7<4, >>F>DO5 D4EE>4GNFEO >464O= 
45=L. $57G?OD=O5 ?D>F54GDO <>6=> ?D>6>4<FL ?> <5F>4<>5 
D>=<D>64=<O 4?O F5?5= �$�� (EFD. 8). 

�MGM5=<O >F D>=<D>64=<O 

�> 6D5<O D>=<D>64=<O 6 >5?4EF< 6>745=EF6<O =45?N445FEO 
?D<OF=>5 GG6EF6> F5??4 < ?57>>= 6<5D4F<<.  
�D< ?>?444=<< 6 7>=G 6>745=EF6<O =5D6=>7> F5=FD4 <=>744 

<>7GF ?>O6?OFLEO 5>?57=5==O5 >MGM5=<O. �E ?>O6?5=<5 O6?O5FEO 
?>?>6<F5?L=O< E<<?F><><, >>F>DO= E6<45F5?LEF6G5F > 
6>EEF4=>6?5=<< 445>64F=>= D54>F<< >D74=<7<4 =4 6=GFD5==<5 
=4DGL5=<O. �D< 6>7=<>=>65=<< F4><E 5>?57=5==OE >MGM5=<= 
?D>F54GDO =5 ?D5>D4M4NF, ?D< MF>< <>6=> G<5=LL<FL 6D5<O 
6>745=EF6<O =4 >5?4EFL 5>?57=5==OE >MGM5=<= </<?< =4 
?>76>=>G=<> 6 F5G5=<5 >4=>= ?D>F54GDO (=5 E>>D4M4O >>?<G5EF6> 
?D>F54GD 6 EGF><). 
$>=<D>64=<5 ?D< ED>=<G5E><E 745>?564=<OE, >4> ?D46<?>, 

?D>F5>45F G5D57 >D4F>>6D5<5==>5 GE<?5=<5 5>?57=5==OE 
?D>O6?5=<= (5-10 4=5=), >>F>DO5 ?>EF5?5==> <EG574NF. �D< 
=4EFG??5=<< >5>EFD5=<O ?D>F54GDO =5 ?D5>D4M4NF. 
�D< 74?GM5==OE D>D<4E 745>?564=<= 5>?57=5==O5 >MGM5=<O 

<>7GF <EG57=GFL F>?L>> > >>=FG ?5D6>7> >GDE4 <?< 4465 ?D< 
?>6F>D=OE >GDE4E D>=<D>64=<O. 
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��-�/ $�%'$%��/ �����$��� �$������� 

�5M4O D5EGDE=4O ?>445D6>4 >D74=<7<4 (�$��) 

&5?L D>=<D>64=<O. $57G?OD=>5 D>=<D>64=<5 >5?4EF< ?>G5> 
(�), ?5G5=< (�) < ?>76>=>G=<>4 O6?O5FEO MDD5>F<6=>= <5D>= 
G>D5??5=<O 74>D>6LO < ?D>D<?4>F<>< 745>?564=<=. � >5?4EF< 
D>=<D>64=<O ?D><EE>4<F >G<EF>4 F>4=5= >F L?4>>6 < =4EOM5=<5 
>?5F>> M=5D7>D5EGDE4<< (?>4D>5=55 =4 EFD. 1-3).  
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 1. -DD5>F 

?D>?>DF<>=4?5= >>?<G5EF6G ?D>F54GD 6 EGF>< < 6 =545?N. �?O 
E>>D4M5=<O 6D5<5=< D>=<D>64=<O 6 F5G5=<5 >4=>= ?D>F54GDO, 
>5?4EF< �11, �3 < �4 <>6=> 74<5=<FL =4 >4=G >5?4EFL �40, 
>>F>D4O ?D54?>?4745F ?5D5<5M5=<5 6<5D>D>=>6 64>?L 
?>76>=>G=<>4 >F ?D>F54GDO > ?D>F54GD5 (D<E. 5). &5<? G65?<G5=<O 
6D5<5=< D>=<D>64=<O F4>>= 65, >4> 4?O �11. 

%E5<4 1. $>=<D>64=<5 4?O �$��.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 $56<< 2 �5=L 
� � �11 �3 �4 

1-2 10 5 1 2 2 

3-6 15 6 3 3 3 

7-10 20 8 4 4 4 

11-14 25 10 5 5 5 

44?55 30 13 5 7 5 

'65?<G5=<5 D45>F>E?>E>5=>EF< 

�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 2. �D>F54GDO 
?>6F>DONF 1-3 D474 6 EGF>< 2-7 D47 6 =545?N 6 ?5D<>4 
?>6OL5==OE D<7<G5E><E, G<EF65==OE < ?E<E<G5E><E =47DG7>>. 
%G<<4D=>5 >>?<G5EF6> ?D>F54GD 6 =545?N 746<E<F >F 
<=F5=E<6=>EF< < ?D>4>?6<F5?L=>EF< =47DG7>>. '5< 5>?LL5 
=47DG7><, F5< 5>?LL5 ?D>F54GD, => ?>?L74 5EFL 4465 >F >4=>= 
?D>F54GDO. 
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%E5<4 2. $>=<D>64=<5 4?O G65?<G5=<O D45>F>E?>E>5=>EF<. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � 

1-2 5 5 

3-6 8 8 

7-10 10 10 

44?55 15 15 

%=OF<5 GEF4?>EF< <OLF 

&5?L D>=<D>64=<O. $>=<D>64=<5 >>=>D5F=OE 7DG?? <OLF 
?D<<5=O5FEO ?D< <E GF><?5=<< ?>E?5 7=4G<F5?L=OE =47DG7>>, ?<5> 
4?O D5EGDE=>= =4>4G>< E F5?LN D4EL<D5=<O D<7<G5E><E 
6>7<>6=>EF5=, =4?D<<5D 6 E?>DF5. $>=<D>64=<5 ?>76>?O5F 
<75564FL 5>?57=5==OE >E?>6=5=<=, GE>>DO5F 6>EEF4=>6?5=<5 
<OLF (6 1,5-2 D474) < E?>E>5EF6G5F >G<EF>5 >D>6< >F ?D>4G>F>6 
<OL5G=>= 4>F<6=>EF<. �4<5>?55 4>FG4?L=> 6>EEF4=>6?5=<5 <OLF 
E?<=O, 7>?5=< < EFG?=<, ?>E>>?L>G >=< GG4EF6GNF 6 =5=D><OL5G=>= 
E<EF5<5 4<>DF<74F<< ?>76>=>G=<>4 < EGEF46>6  (?>4D>5=55 6 
D4745?5 «�45>?564=<O ?>76>=>G=<>4 < EGEF46>6»). 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 3. �E?< D4=55 

D>=<D>64=<5 ?D>6>4<?>EL (?D< >FEGFEF6<< ?5D5DO64 5>?55 1 
<5EOF4), EF4DF>6O= 45=L 6 EE5<5 6O5<D45FEO, <EE>4O <7 
4>EF<7=GF>7> 6D5<5=< 4?O >5?4EF< ?>G5> (�). �D>F54GDO 
?>6F>DONF 1-3 D474 6 EGF>< 6 ?5D<>4 ?>6OL5==>= D<7<G5E>>= 
=47DG7><.  
�D< D>=<D>64=<< ><EF5= 6<5D>D>=O 746<<4NF 6 >G?4>4E, 

<5<5D4=4<< > ?44>=O<. �4 4DG7<5 >5?4EF< >>=5G=>EF5= 
6<5D>D>=O D<>E<DGNF M?4EF<G=O< 5<=F>< <?< E ?><>MLN <4=65F. 

%E5<4 3. $>=<D>64=<5 4?O E=OF<O <OL5G=>= GEF4?>EF<. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 �5=L 
� �4<5>?55 GF><?5==O5 7DG??O <OLF 

1-2 15 �> 3 <<=. =4 7DG??G 
3-4 21 �> 7 <<=. =4 7DG??G 
44?55 30 �> 10 <<=. =4 7DG??G 
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�D>D<?4>F<>4 ?D>EFG4=OE 745>?564=<= 

�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 4. �D>F54GDO 
?>6F>DONF 1-3 D474 6 EGF>< 2-7 D47 6 =545?N. �4G<=4FL >GDE 
D5>><5=4G5FEO ?D< >464>< GEF>=G<6>< <7<5=5=<< F5<?5D4FGDO 
>>DG64NM5= ED54O 5>?55 G5< =4 7 7D44GE>6.  
�D>4>?6<F5?L=>EFL >GDE4 - 2-3 =545?<. �?O ?D>D<?4>F<>< 

?D>EFG4=OE 745>?564=<= ?D>6>4OF 2-4 >GDE4 6 7>4 (E E5=FO5DO ?> 
<4=). �D>D<?4>F<>4 >?D464O645FEO ?GGL<< E4<>GG6EF6<5<, 
=4EFD>5=<5<, EGM5EF65==> 5>?LL5= D45>F>E?>E>5=>EFLN.  

%E5<4 4. $>=<D>64=<5 4?O ?D>D<?4>F<>< ?D>EFG4=OE 
745>?564=<=.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � 

1-2 5 5 

3-6 8 8 

7-10 12 12 

44?55 15 15 
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�$&�$���,��/ ����$&����/ (����$&���/) 

&5?L D>=<D>64=<O. � F5?>< DO45 <54<F<=E><E <EE?54>64=<= 
?>>474=>, GF> D>=<D>64=<5 >5?4EF< ?>G5> (�) EGM5EF65==> 
G?GGL45F <E DG=>F<N < E?>E>5EF6G5F GE>>D5=<N =>D<4?<74F<< 
4DF5D<4?L=>7> 446?5=<O (��). $>=<D>64=<5 ?>76>?O5F G?GGL<FL 
E4<>GG6EF6<5 < ?>6OE<FL D45>F>E?>E>5=>EFL, < ?D< MF>< E=<7<FL 
4>7G ?D<=<<45<OE 7<?>F5=7<6=OE ?D5?4D4F>6, 6 F>< G<E?5 
>F>474FLEO >F =<E. �46?5=<5 65 E=<645FEO <=>744 ?>E?5 =5E>>?L><E 
E54=E>6, <=>744 G5D57 =5E>>?L>> <5EOF56 6 746<E<<>EF< >F EF44<< 
7<?5DF>=<G5E>>= 5>?57=< < 4?<F5?L=>EF< <E>GEEF65==>7> E=<65=<O 
��. �>E?5 <5EOF4 ?D>F54GD >F<5G45FEO E=<65=<5 GD>6=O 
E>?5EF5D<=4 6 >D>6<. -DD5>F<6=>EFL <5F>44 ?D>?>DF<>=4?L=4 
>>?<G5EF6G 6O?>?=5==OE ?D>F54GD.  
�5F>4<>4. � 5>?LL<=EF65 E?GG456 E=<65=<O �� 4>5<64NFEO E 

?><>MLN <5F>4<>< 71. �E?< 7<?5DF5=7<O 6O764=4 E>EG4<EF>= 
=54>EF4F>G=>EFLN E?<==>7> <?< 7>?>6=>7> <>774, F> 5>?55 
MDD5>F<6=4 <5F>4<>4 72. 
�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 ?D>4>?64NF 4> 

4>EF<65=<O >?F<<4?L=>7> GD>6=O ��. �> 4>EF<65=<< >?F<<4?L=>7> 
�� ?5D5E>4OF > ?>445D6<64NM<< ?D>F54GD4< D>=<D>64=<O: 
>>?<G5EF6> ?D>F54GD <>6=> E>>D4F<FL 4> 1-2 D47 6 EGF><, => ?D< 
G65?<G5=<< D<7<G5E><E =47DG7>>, ?5D5>E?4645=<<, 4?<F5?L=>< 
EFD5EE5 ?D>6>4OF =4 >4=G ?D>F54GDG 5>?LL5 (2-3 D474 6 EGF><). �D< 
=5>5E>4<<>EF< ?>6F>D=O5 >GDEO ?D>6>4OF 2-3 D474 6 7>4. 

�5F>4<>4 7 1 

�5F>4<>4 7 1 ?D<<5=O5FEO ?D< 4DF5D<4?L=>= 7<?5DF5=7<< 
(7<?5DF>=<<) 1-3 EF5?5=< 6 E?GG45, 5E?< 65DE=55 (E<EF>?<G5E>>5) 
�� 557 ?D<5<4 ?5>4DEF6, ?>=<64NM<E 446?5=<5, GFD>< >5OG=> 
<5=LL5, G5< 65G5D><. �E?< 65G5D>< ?>6OL45FEO F>?L>> 
E<EF>?<G5E>>5 446?5=<5, D>=<D>64=<5 ?D>6>4OF ?> EE5<5 5. �E?< 
65G5D>< ?>6OL45FEO < E<EF>?<G5E>>5, < 4<4EF>?<G5E>>5 ��, 
D>=<D>64=<5 ?D>6>4OF ?> EE5<5 6. �D>F54GDO ?>6F>DONF 2-3 D474 
6 EGF><. 
�5G5=<5 7<?5DF>=<< 1 EF5?5=< (GD>65=L �� 6 ?D545?4E 125/90 - 

159/99 <<. DF. EF.) ?D>6>4OF 557 <54<>4<5=F>7=>= F5D4?<<. 
�5G5=<5 7<?5DF>=<< 2 < 3 EF5?5=< (GD>65=L �� 5>?55 160/100 <<. 
DF. EF.) ?D>6>4OF E ?D<<5=5=<5< 7<?>F5=7<6=OE ?D5?4D4F>6 E 
?>EF5?5==O< G<5=LL5=<5< 4>7O. �5D6O5 2 =545?< D>=<D>64=<5 
?D>6>4OF E ?D<<5=5=<5< ?>?=>= EGF>G=>= 4>7O 7<?>F5=7<6=OE 
?D5?4D4F>6. �4?55 3 ?D< 7<?5DF>=<< 2 EF5?5=< 4>7G ?5>4DEF6 

http://www.vitafon.ru/docs/id44.html
http://www.vitafon.ru/docs/id56.html
http://www.vsegdazdorov.ru/articles.html?id=1624563932&gid=162848469
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G<5=LL4NF =4 1/2 EGF>G=>= 4>7O >464O5 2-3 =545?<, 4 ?D< 
7<?5DF>=<< 3 EF5?5=< =4 1/4 EGF>G=>= 4>7O >464O5 2-3 =545?<. �>4 
EGF>G=>= 4>7>= ?>=<<45FEO 4>74 ?5>4DEF65==>7> ?D5?4D4F4, 
D5>><5=4>64==>7> 6D4G>< 4?O ?>EF>O==>7> ?D<5<4. �>?=O= >F>47 
>F 7<?>F5=7<6=OE ?D5?4D4F>6 6>7<>65=, 5E?< 65DE=55 �� ?D< 
?D>4>?64NM<EEO ?D>F54GD4E D>=<D>64=<O =5 ?D56OL45F 160 <<. 
DF. EF. 

%E5<4 5. $>=<D>64=<5 ?D< 7<?5DF>=<< 1-3 EF5?5=<, >>744 
65G5D>< ?>6OL45FEO F>?L>> 65DE=55 (E<EF>?<G5E>>5) ��. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 �5=L 
� 

1-2 5 

3-8 10 

9-13 15 

14-19 20 

20-25 25 

44?55 
25-30 ?D< 7<?5DF>=<< 1 EF5?5=<, 

30-40 ?D< 7<?5DF>=<< 2-3 EF5?5=< 

%E5<4 6. $>=<D>64=<5 ?D< 7<?5DF>=<< 1-3 EF5?5=<, >>744 
65G5D>< ?>6OL45FEO < E<EF>?<G5E>>5, < 4<4EF>?<G5E>>5 ��. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � �5 % �50 

1-2 10 3 3 3 1 

3-8 15 5 4 4 2 

9-13 20 6 4 4 6 

14-19 25 7 5 5 8 

20-25 30 8 6 7 9 

44?55 40 10 10 10 10 
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�5F>4<>4 7 2 

�5F>4<>4 7 2 ?D<<5=O5FEO ?D< 7<?5DF>=<< 1-3 EF5?5=<, 5E?< 
65DE=55 �� 557 ?D<5<4 ?5>4DEF6, ?>=<64NM<E 446?5=<5, 
GFD>< =4 10 < 5>?55 54<=<F 5>?LL5, G5< 65G5D>< (7<?5DF5=7<O, 
6O764==4O E>EG4<EF>= =54>EF4F>G=>EFLN). �<?>F5=7<6=O5 
?5>4DEF65==O5 ?D5?4D4FO ?D< MF>< F<?5 7<?5DF>=<<, >4> ?D46<?>, 
=5 MDD5>F<6=O, ?>MF><G ?D>F54GDO ?D>6>4OF 557 
<54<>4<5=F>7=>= F5D4?<<. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 7. 
�D>F54GDO ?>6F>DONF 2-3 D474 6 EGF><. �E>55==>EF< GEF4=>6>< 
6<5D>D>=>6 6 >5?4EF< 7?47 G>474=O =4 D<E. 6 =4EF>OM<E �5F>4<> 
D>=<D>64=<O. 
%E5<4 7. $>=<D>64=<5 ?D< 7<?5DF>=<< 1-3 EF5?5=<, 5E?< 
65DE=55 (E<EF>?<G5E>>5) �� GFD>< =4 10 < 5>?55 54<=<F 
5>?LL5, G5< 65G5D><. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �545?O 

� � 
�56O= 
 7?47 D1 

�D46O= 
 7?47 �50 

1-2 4 4 2 2 2 2 

3-6 8 8 5 5 5 5 

7-10 12 12 5 5 5 5 

44?55 15 15 5 5 5 5 
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����������/ �������'���� � %'%&���� 

&5?L D>=<D>64=<O. �>EEF4=>6?5=<5 >5?4EF<, ?>D465==>= 
5>?57=LN. �?O MF>7> =5>5E>4<<> 6>EEF4=>6?5=<5 =5=D><OL5G=>= 
4<>DF<74F<<, G44?5=<5 ?>7<5L<E >?5F>> <7 ?>D465==>= >5?4EF< < 
74<5=4 <E 74>D>6O<<, =4EOM5=<5 >?5F>> D5EGDE4<<. % ?><>MLN 
D>=<D>64=<O <>6=> ?>?=>EFLN >><?5=E<D>64FL 45D<F<F 
<<>D>6<5D4F<< 6 7444==>= >5?4EF<.  

�5F>4<>4 D>=<D>64=<O ?>76>=>G=<>4 

$>=<D>64=<5 ?D>6>4OF ?> EE5<4< 8-15 6 ?>?>65=<< ?564 =4 
E?<=5. �> 6D5<O ?D>6545=<O ?D>F54GD 6 >5?4EF< L5==>7> >F45?4 
?>76>=>G=<>4 4?O GEF4=>6>< 6<5D>D>=>6 ?>4 L5N < ??5G< 
?>4>?44O64NF ?>4GL>G F4>, GF>5O >=< 4>EF4F>G=> ??>F=> ?D<?574?< 
> >5?4EF< 6>745=EF6<O. 
�D< =4?<G<< ?D>5?5< 6 =5E>>?L><E >F45?4E ?>76>=>G=<>4 

(=4?D<<5D, >EF5>E>=4D>7 L5==>7> >F45?4 < <56?>76>=>G=4O 7DO64 6 
?>OE=<G=>->D5EFF>6>< >F45?5) 6O5<D4NF >4=G EE5<G 4?O =4<5>?55 
?D>5?5<=>= >5?4EF<. �D< G<5D5==>= EF5?5=< 457D444F<< 
?>76>=>G=<>4 6>7<>6=> D>=<D>64=<5 ?> 46G< EE5<4< 
>4=>6D5<5==>, ?D< MF>< 6 >4<= 45=L D>=<D>64=<5 ?> >464>= <7 
EE5< E?54G5F ?D>6>4<FL E <=F5D64?>< =5 <5=55 2 G4E>6. 
�E?< ?>?L7>64F5?L EFD4445F 7<?5DF>=<G5E>>= 5>?57=LN, F> 6 

?D>F5EE5 ?D>6545=<O ?D>F54GD E?54G5F >>=FD>?<D>64FL 
4DF5D<4?L=>5 446?5=<5 4> =4G4?4 ?D>F54GDO < G5D57 30 <<=GF 
?>E?5 55 7465DL5=<O. �=> <>65F <7<5=OFLEO. �46?5=<5 =5>5E>4<<> 
?>445D6<64FL =4 >?F<<4?L=>< GD>6=5, >>744 =45?N445FEO 
=4<?GGL55 E4<>GG6EF6<5 < =4<6OEL4O D45>F>E?>E>5=>EFL. �D< 
?D<<5=5=<< 7<?>F5=7<6=OE ?D5?4D4F>6 D>=<D>64=<5 >5?4EF< 
?>G5> (�) <>65F 6O764FL <75OF>G=>5 E=<65=<5 4DF5D<4?L=>7> 
446?5=<O. � MF>< E?GG45 =5>5E>4<<> >F>>DD5>F<D>64FL (E>>D4F<FL) 
4>7O ?5>4DEF65==OE ?D5?4D4F>6, GF>5O ?>445D6<64FL 446?5=<5 =4 
>?F<<4?L=>< GD>6=5. � E?GG45 D>EF4 446?5=<O, ?D< ?>O6?5=<< 
7>?>6>>DG65=<O <?< E?45>EF< G<5=LL4NF 4?<F5?L=>EFL ?D>F54GD =4 
>5?4EFL ?>76>=>G=<>4. 
�D< 4D<F<<< E5D4F4 < ?>E?5 ?5D5=5E5==>7> <=D4D>F4 <<>>4D44 

D>=<D>64=<5 7DG4=>7> >F45?4 ?>76>=>G=<>4 ?D>6>4OF ?> EE5<5 9�: 
6>745=EF6<5 =4 7DG4=>= >F45? (�11, �2, �21) =4G<=4NF E 
<<=<<4?L=>7> 6D5<5=< (1 <<=GF4) < G65?<G<64NF 57> >G5=L 
?>EF5?5==>. 
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�>7<>6=>EFL >5>EFD5=<O. �D< =4?<G<< ED>=<G5E><E 5>?57=5= 
?>76>=>G=<>4 <>7GF 6D5<5==> >5>EFDOFLEO 5>?57=5==O5 >MGM5=<O, 
=> >4=>6D5<5==> E MF<< G65?<G<645FEO ?>46<6=>EFL 6 >5?4EF< 
6>745=EF6<O. -F> E6<45F5?LEF6G5F > 6>EEF4=>6?5=<< 
>D>6>E=4565=<O =5D6=OE ?GF5= < O6?O5FEO ?>?>6<F5?L=O< 
<7<5=5=<5< 6 E>EF>O=<< ?>76>=>G=<>4. �D>6545=<5 ?D>F54GD =5 
?D5>D4M4NF. '5< D46=><5D=55 ?D>F54GDO ?D>6>4OFEO 6 F5G5=<5 
EGF>>, F5< 6OL5 MDD5>F < F5< =<65 65D>OF=>EFL >5>EFD5=<O 
5>?57=5==OE >MGM5=<=. 

�D>4>?6<F5?L=>EFL >GDE4 6 5>?LL>= EF5?5=< 746<E<F >F 
FO65EF<, ?D>4>?6<F5?L=>EF< < E4D4>F5D4 745>?564=<O < >>?55?5FEO 
?D< >EF5>E>=4D>75 < D44<>G?<F5 6 ?D545?4E >F =5E>>?L><E 4=5= 4> 
=5E>>?L><E <5EOF56. �D< 7DO64E <56?>76>=>G=OE 4<E>>6 < E>>?<>75 
4?O EF>=>>= < ?>?=>= D545<?<F4F<< ?>FD55G5FEO >F >4=>7> 4> FD5E 
?5F (746<E<F >F FO65EF< 745>?564=<O).  

�EF5>E>=4D>7, D44<>G?<F  
$>=<D>64=<5 ?D>6>4OF ?> EE5<4< 8-11 6 746<E<<>EF< >F F>7>, 6 

>4>>< >F45?5 ?>76>=>G=<>4 <<55FEO >EF5>E>=4D>7, D44<>G?<F 
(L5==><, 7DG4=><, ?>OE=<G=><, ?>OE=<G=>->D5EFF>6><). �D>F54GDO 
?>6F>DONF 2-4 D474 6 EGF><.  
%>>F=5E<F5 ?D>5?5<=GN >5?4EFL E >5>7=4G5=<5< >5?4EF5= 

6>745=EF6<O =4 D<E. 4. �O55D<F5 EE5<G, 6 >>F>D>= G>474=4 
?D>5?5<=4O >5?4EFL. 
%E5<4 8. $>=<D>64=<5 ?D< >EF5>E>=4D>75, D44<>G?<F5 
L5==>7> >F45?4 ?>76>=>G=<>4.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � D1 D2 �1 

1-3 10 5 1 2 2 

4-9 20 11 3 3 3 

10-15 25 13 4 4 4 

44?55 30 15 5 5 5 
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%E5<4 9. $>=<D>64=<5 ?D< >EF5>E>=4D>75, D44<>G?<F5 
7DG4=>7> >F45?4 ?>76>=>G=<>4.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � �11 �2 �21 

1-3 10 5 1 2 2 

4-9 20 10 3 4 3 

10-15 25 13 4 4 4 

44?55 30 15 5 5 5 

%E5<4 9�. $>=<D>64=<5 ?D< >EF5>E>=4D>75, D44<>G?<F5 
7DG4=>7> >F45?4 ?>76>=>G=<>4 ?D< 4D<F<<< E5D4F4 < ?>E?5 
?5D5=5E5==>7> <=D4D>F4 <<>>4D44.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � �11 �2 �21 

1-3 8 5 1 1 1 

4-8 16 9 2 2 3 

9-13 20 11 2 3 4 

14-18 25 13 3 5 4 

44?55 30 15 5 5 5 

%E5<4 10. $>=<D>64=<5 ?D< >EF5>E>=4D>75, D44<>G?<F5 
?>OE=<G=>7> >F45?4 ?>76>=>G=<>4.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 

 
�5=L 

� � �21 �3 �31 

1-3 10 4 2 2 2 

4-9 20 10 3 4 3 

10-15 25 13 4 5 3 

44?55 30 15 5 5 5 
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%E5<4 11. $>=<D>64=<5 ?D< >EF5>E>=4D>75, D44<>G?<F5 
?>OE=<G=>->D5EFF>6>7> >F45?4 ?>76>=>G=<>4.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 $56<< 2 �5=L 
� � �3 �31 �4 

1-3 11 5 2 2 2 

4-9 20 10 3 3 4 

10-15 30 15 5 4 6 

44?55 35 16 7 4 8 

�DO64 <56?>76>=>>6>7> 4<E>4 

$>=<D>64=<5 ?D>6>4OF ?> EE5<5 12. �D>F54GDO ?>6F>DONF 3-4 
D474 6 EGF>< ?5D6O5 FD< <5EOF4, 6 ?>E?54GNM<5 4 2 D474 6 
EGF><.  

%E5<4 12. $>=<D>64=<5 ?D< <56?>76>=>>6>= 7DO65.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 

�5=L 
� � 

%?564 < 
E?D464 >F 
>5?4EF< 
7DO6< 

%65DEG < 
E=<7G >F 
>5?4EF< 
7DO6< 

1-2 10 4 3 3 

3-7 15 7 4 4 

8-12 20 10 5 5 

13-17 25 13 6 6 

18-22 35 19 8 8 

44?55 40 20 10 10 
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%>>?<>7 
$>=<D>64=<5 ?D>6>4OF ?> EE5<5 13. �D>F54GDO ?>6F>DONF 2 

D474 6 EGF><. 

%E5<4 13. $>=<D>64=<5 ?D< E>>?<>75.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � �1 �2 �3 �4 

1-2 10 2 2 2 2 2 

3-7 20 8 3 3 3 3 

8-12 25 9 4 4 4 4 

44?55 30 10 5 5 5 5 

�>?L 6 E?<=5  

&5?L D>=<D>64=<O 3 6>EEF4=>6?5=<5 < ?>445D64=<5 
<OL5G=OE D5EGDE>6, G<5=LL5=<5 >F5>4 < 5>?<. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<4< 14, 15 6 

746<E<<>EF< >F E<?O 5>?<. � EE5<4E ?D<=OFO E?54GNM<5 
>5>7=4G5=<O:  

S7 3 >5?4EFL <OLF E?<=O =4 7 E< 6OL5 >5?4EF< 5>?<;  
S3 3 >5?4EFL <OLF E?<=O =4 3 E< 6OL5 >5?4EF< 5>?<;  
Sµ 3 E?564 < E?D464 =4 2-3 E< >F ?>76>=>G=<>4 =4 GD>6=5 5>?<; 
Sµ 3 64>?L ?>76>=>G=<>4 6OL5 < =<65 =4 2-3 E< >5?4EF< 5>?<. 
�D>4>?6<F5?L=>EFL >GDE4: 7 4=5=. �465 ?D< ?>?=>< 

<EG57=>65=<< 5>?< < E>>64==>EF< 46<65=<= ?>E?5 =5E>>?L><E 
?D>F54GD ?D>7D4<<G ?5D6>7> 7-4=56=>7> >GDE4 =5>5E>4<<> 
6O?>?=<FL ?>?=>EFLN. -F> 646=> 4?O ?D54G?D5645=<O ?>6F>D4 
6>7=<>=>65=<O 5>?5= < D47?<G=OE >E?>6=5=<= =4 6=GFD5==<5 
>D74=O. 
�>E?5 7-4=56=>7> >GDE4 EE5<G D>=<D>64=<O 6O5<D4NF 6 

746<E<<>EF< >F 4<47=>74 (D44<>G?<F, 7DO64 <56?>76>=>>6>7> 
4<E>4, >EF5>E>=4D>7). 
��������! %?54G5F ?><=<FL, GF> 5E?< >4=>6D5<5==> E >EFD>= 

5>?LN 6 ?>OE=<F5 ?>O6<?>EL =4DGL5=<5 <>G5<E?GE>4=<O (>EFD4O 
7445D6>4 <>G<), =5>5E>4<<> ED>G=> >5D4F<FLEO 74 <54<F<=E>>= 
?><>MLN > =5=D>E<DGD7G. &4>>5 >E?>6=5=<5 <>65F 5OFL E6O74=> E 
D>D<<D>64=<5< E6>5>4=>7> DD47<5=F4 7DO6< <56?>76>=>>6>7> 
4<E>4 < E446?<64=<5< << >>D5L>>6 E?<==>7> <>774.  
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%E5<4 14. $>=<D>64=<5 ?D< 6>7=<>=>65=<< E<?L=OE 5>?5= 6 
E?<=5. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
�>?-6> 
?D>F54GD 
6 EGF>< � � S7 S3 Sµ Sµ 

1-2 6 10 4 4 2 - - 

3-4 3 20 7 - 3 5 5 

5-7 2 30 10 - - 10 10 

%E5<4 15. $>=<D>64=<5 ?D< 6>7=<>=>65=<< G<5D5==OE 5>?5= 
6 E?<=5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
�>?-6> 
?D>F54GD 
6 EGF>< � � S7 S3 Sµ Sµ 

1-2 4 20 8 3 3 3 3 

3-4 3 25 9 - - 8 8 

5-7 2 30 10 - - 10 10 

�5F>4<>4 D>=<D>64=<O EGEF46>6 

$>=<D>64=<5 ?D>6>4OF ?> EE5<4< 16-20 6 ?>?>65=<< ?564 =4 
E?<=5. �4 >4<= >GDE <>6=> ?5G<FL =5 5>?55 46GE EGEF46>6. 
�D<<5DO GEF4=>6>< 6<5D>D>=>6 =4 D47?<G=O5 EGEF46O 

<7>5D465=O =4 D<E. 2, 3. �<5D>D>=O ?GGL5 D<>E<D>64FL 
E?5F<4?L=>= <4=65F>=. 
�>7<>6=>EFL >5>EFD5=<O. �D< D>=<D>64=<< EGEF464 <=>744 

?>E?5 =5E>>?L><E ?D>F54GD =4EFG?45F >5>EFD5=<5 5>?57=5==OE 
>MGM5=<= < 6D5<5==>5 GE<?5=<5 >F5>4. -F> E6O74=> E F5<, GF> 
5?47>44DO <<>D>6<5D4F<< GE<?<64NFEO <<<G==O5 D54>F<<.  

 $>=<D>64=<5 =5 ?D5>D4M4NF, < =5E>>?L>> 4=5= >5OG=> 
?D<E>4<FEO ?>F5D?5FL, ?>E>>?L>G ?D<=<<4FL >5575>?<64NM<5 
?D5?4D4FO =5 D5>><5=4G5FEO. -F>F ?E<E>?>7<G5E><= 54DL5D 
=5>5E>4<<> ?D5>4>?5FL. �<>D>6<5D4F<O 557G?D5G=> 6O?>?=O5F 
E6>N D45>FG ?> >G<EF>5 F>4=5= >F L?4>>6, 4 MF> 6E5744 
?>?>6<F5?L=> 4?O 74>D>6LO EGEF464. �>6=> <E?>?L7>64FL 
?D>F<6>6>E?4?<F5?L=O5 ED54EF64, ?D54?<E4==O5 6D4G><.  
'F>5O G?GGL<FL ?5D5=>E<<>EFL < G<5=LL<FL 5>?57=5==>EFL, 

<>6=> 6=5EF< E?54GNM<5 <7<5=5=<O 6 EE5<G F4><< >5D47><, GF>5O 
D>=<D>64=<5 ?5D5=>E<?>EL ?57>>, 6 G4EF=>EF<: 
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1) ?D< D>=<D>64=<< EGEF464 6<5EF> D56<<4 2 ?D<<5=OFL D56<< 
1. �4F5< G5D57 =5>>F>D>5 6D5<O 65D=GFLEO > D56<<G 2; 

2) G<5=LL<FL 6D5<O D>=<D>64=<O EGEF464 6 F5G5=<5 >4=>= 
?D>F54GDO. �>?<G5EF6> ?D>F54GD 6 EGF>< E>>D4M4FL =5 
D5>><5=4G5FEO; 

3) ?5D5=F< > D>=<D>64=<N F>?L>> >4=>7> EGEF464, 5E?< 
?D>F54GDO 6O?>?=O?<EL >4=>6D5<5==> 6 >F=>L5=<< 46GE EGEF46>6. 
�D>4>?6<F5?L=>EFL >GDE4. �D>4>?6<F5?L=>EFL >GDE4 6 

5>?LL>= EF5?5=< 746<E<F >F FO65EF<, ?D>4>?6<F5?L=>EF< < 
E4D4>F5D4 745>?564=<O. �D< =574?GM5==>< 745>?564=<< >GDE (4> 
<EG57=>65=<O 5>?5= < D>D<<D>64=<O =>D<4?L=>= ?>46<6=>EF< 
EGEF464) >>?55?5FEO 6 ?D545?4E >F =5E>>?L><E =545?L 4> 
=5E>>?L><E <5EOF56 6 746<E<<>EF< >F EG<<4D=>7> 6D5<5=< 
D>=<D>64=<O. �D< 74?GM5==>< 745>?564=<< <>7?< D476<FLEO 
=5>5D4F<<O5 ?D>F5EEO, < F>744 D>=<D>64=<5 E<>65F F>?L>> 
?D5?OFEF6>64FL 44?L=5=L5= 457D444F<< < =5>>F>D><G E=<65=<N 
5>?57=5==>EF<. 
� ?D>F5EE5 D545<?<F4F<< EGEF464 E>5?N44FL ?>EF5?5==>5 

G65?<G5=<5 =47DG7>< < 55 D46=><5D=>5 D4E?D545?5=<5 6 F5G5=<5 
4=O. 

�DFD>7, 4DFD<F, ?>6D5645=<O <5=<E>4 

$>=<D>64=<5 ?D>6>4OF ?> EE5<4< 16-18 6 746<E<<>EF< >F 
EGEF464, 6 >>F>D>< <<55FEO ?D>5?5<4. �D>F54GDO ?>6F>DONF 2-3 
D474 6 EGF><. %E5<O 16 < 17 D4745?5=O =4 465 G4EF<: 6 >464GN 
?D>F54GDG =5>5E>4<<> 6O?>?=OFL >55 G4EF<.  
�<5D>D>=O 6 >5?4EF< 7>?5=< GEF4=46?<64NF =4 ?5D54=<5 < 

744=<5 <OLFO (D<E. 3). �D< D>=<D>64=<< >5?4EF< ��', 
6<5D>D>=O GEF4=46?<64NF =4 ?4E>6O5 ?<<D4F<G5E><5 G7?O F>= 
=>7<, =4 >>F>D>= =4E>4<FEO ?>D465==O= EGEF46 (D<E. 8).  
%E5<4 16. $>=<D>64=<5 ?D< 745>?564=<< F47>554D5==>7> 
EGEF464. '4EFL 1. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� 

�OLFO 
?56>= 7>?5=< 

�OLFO 
?D46>= 7>?5=< 

� 

1 10 2 2 6 

2-5 15 4 4 7 

6-10 20 6 6 8 

44?55 30 8 8 14 
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%E5<4 16. $>=<D>64=<5 ?D< 745>?564=<< F47>554D5==>7> 
EGEF464 '4EFL 2. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
%GEF46 �3 �31 �4 ��'* 

1 8 2 2 2 2 

2-5 12 3 3 3 3 

6-10 16 4 4 4 4 

44?55 20 5 5 5 5 

* ��' 3 >5?4EFL ?4E>6OE ?<<D4F<G5E><E G7?>6 

%E5<4 17. $>=<D>64=<5 ?D< 745>?564=<< 7>?5=>EF>?=>7>, 
>>?5==>7> EGEF464 (4DFD>7 4DFD<F, =574?GM5==>5 >FE?>5=<5 
<5=<E>4). '4EFL 1. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� 

�OLFO 
?56>= 7>?5=< 

�OLFO 
?D46>= 7>?5=< 

� 

1 10 2 2 6 

2-5 20 6 6 8 

6-10 25 7 7 11 

44?55 30 7 7 16 

%E5<4 17. $>=<D>64=<5 ?D< 745>?564=<< 7>?5=>EF>?=>7>, 
>>?5==>7> EGEF464 (4DFD>7 4DFD<F, =574?GM5==>5 >FE?>5=<5 
<5=<E>4). '4EFL 2. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
%GEF46 �3 �31 �4 ��'* 

1 8 2 2 2 2 

2-5 12 3 3 3 3 

6-10 16 4 4 4 4 

44?55 20 5 5 5 5 

* ��' 3 >5?4EFL ?4E>6OE ?<<D4F<G5E><E G7?>6 

 



22 

%E5<4 18. $>=<D>64=<5 ?D< 745>?564=<< EGEF46>6 DG>.  
$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 $56<< 2 �5=L 
� � D2 �1 %GEF46 

1-2 10 3 1 1 5 

3-6 20 5 3 3 9 

7-10 30 7 5 5 13 

44?55 40 10 5 5 20 

�OF>G=4O L?>D4  

&5?L D>=<D>64=<O. $>=<D>64=<5 E?>E>5EF6G5F GF<?<74F<< 
?>7<5L<E >?5F>> <7 >5?4EF< ?OF><, 4 F4>65 6>EEF4=>6?5=<N F>=GE4 
<OLF 7>?5=< 4?O G?GGL5=<O D45>FO E<EF5<O =5=D><OL5G=>= 
4<>DF<74F<<. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 19. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF><.  
�D< D>=<D>64=<< 7>?5=< 6<5D>D>=O GEF4=46?<64NF =4 

?5D54=NN < 744=NN <OLFO 7>?5=< F>= =>7<, =4 >>F>D>= 
>5D47>64?4EL ?OF>G=4O L?>D4. �D<<5D GEF4=>6>< 6<5D>D>=>6 
?>>474= =4 D<E. 3. 

%E5<4 19. $>=<D>64=<5 ?D< ?OF>G=>= L?>D5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 4 �5=L 
� 

�5?4EFL 
?OF>< 

�OLFO 
7>?5=< 

�5?4EFL 
?OF>< 

1-2 10 5 5 5 

3-4 16 8 8 8 

44?55 20 10 10 10 

 
�>447D4 

&5?L D>=<D>64=<O. $>=<D>64=<5 >5?4EF< ?>G5> (�) 
E?>E>5EF6G5F 6O6545=<N (G44?5=<N) <7 >D74=<7<4 <>G56>= 
><E?>FO < 74<54?5=<N >5D47>64=<O GD4F>6. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 20. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF><. 
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%E5<4 20. $>=<D>64=<5 ?D< ?>447D5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 �5=L 
� 

�5?4EFL ?>D465==>7> 
EGEF464 

1 10 5 

2-5 20 10 

6-10 30 20 

44?55 40 30 

�'�%��� ���$��,�  

�45=><4 ?D54EF4F5?L=>= 65?57O 

&5?L D>=<D>64=<O. $>=<D>64=<5 G?GGL45F ?<<D>>FF>>, 
E=<<45F >F5>, GF> ?>76>?O5F >D74=<7<G GF<?<7<D>64FL <75OF>> 
?>7<5L<E >?5F>> 6 44==>= >5?4EF<. �D>F54GDO F4>65 E?>E>5EF6GNF 
G>D5??5=<N <OLF <>G56>7> ?G7ODO, <OLF F47>6>7> 4=4. � 
D57G?LF4F5 D>EF 445=><O >EF4=46?<645FEO, EGM5EF65==> 
G?GGL45FEO EFDGO <>G<, E>>D4M45FEO G<E?> <>G5<E?GE>4=<=, 
G<5=LL45FEO >>?<G5EF6> >EF4F>G=>= <>G<. �5D54 ?D<<5=5=<5< 
=5>5E>4<<> G554<FLEO 6 >FEGFEF6<< 7?>>4G5EF65==OE 
=>6>>5D47>64=<= 6 ?D>EF4F5 ?> >D<F5D<N �%� <?< <=O< E?>E>5><. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 21. �D>F54GDO 

?>6F>DONF 2 D474 6 EGF><. $>=<D>64=<5 ?D>6>4OF ?564 =4 E?<=5. 
�D< =5>5E>4<<>EF< ?>4 >5?4EFL F474 ?>4>?44O64NF =55>?LLGN 
?>4GL>G 4?O >55E?5G5=<O 7>D<7>=F4?L=>EF< F5?4. �?O 
D>=<D>64=<O >5?4EF< ?D><56=>EF< (�) GEF4=46?<64NF >4<= 
6<5D>D>= 6 ?D><56GF>5 <564G 4=4?L=O< >F65DEF<5< < >>D=5< 
?>?>6>7> G?5=4 ?>4 <>L>=>>=. �4=>6D5<5==> 6F>D>= 6<5D>D>= 
GEF4=46?<64NF =4 >5?4EFL <>G56>7> ?G7ODO (��) 3 6 =<6=5= 
G4EF< 6<6>F4 F4>, GF>5O F5=FD <5<5D4=O >>474?EO 6OL5 ?>5>4 =4 
3-4 E<. 
�D< D>=<D>64=<< >5?4EF< � < �� D56<< 2 G5D54GNF E D56<<>< 

4 >F ?D>F54GDO > ?D>F54GD5. 
�D>4>?6<F5?L=>EFL >GDE4. �GDE D>=<D>64=<O 4?<FEO 3 

<5EOF4, < 57> E?54G5F ?>6F>DOFL 2 D474 6 7>4. �EF4?L=>5 6D5<O 
7>44 ?D>6>4OF ?>445D6<64NM<5 ?D>F54GDO: 1-2 D474 6 =545?N <?< 
?> 1-2 ?D>F54GDO 6 F5G5=<5 EGF>> ?>E?5 >464>7> ?>?>6>7> 4>F4. 
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%E5<4 21. $>=<D>64=<5 ?D< ���� (445=><5).  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 $56<< 2/ $56<< 4 �5=L 
� � �3 �4 � < �� 

1-2 10 5 3 2 5 

3-10 20 10 5 5 10 

44?55 30 10 10 10 15 

�D>EF4F<F 
&5?L D>=<D>64=<O. $>=<D>64=<5 ?D>6>4OF E F5?LN 

G?GGL5=<O D45>FO E?5F<4?L=OE <OL5G=OE >?5F>>, 
>55E?5G<64NM<E E5<O<765D65=<5 < MD5>F<N, 4 F4>65 E F5?LN 
G?GGL5=<O ?<<D>>FF>>4. -F> ?>76>?O5F >D74=<7<G GF<?<7<D>64FL 
<75OF>> ?>7<5L<E >?5F>> <7 >5?4EF< ?D54EF4F5?L=>= 65?57O < 55 
?D>F>>>6. �O6>4 ?>7<5L<E >?5F>> 3 >5O74F5?L=>5 GE?>6<5 
<7?5G5=<O ?D>EF4F<F4. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 22. �D>F54GDO 

?>6F>DONF 3 D474 6 EGF>< ?5D6O= <5EOF, 44?55 3 2 D474 6 EGF><.  
$>=<D>64=<5 ?D>6>4OF ?564 =4 E?<=5. �D< =5>5E>4<<>EF< ?>4 

>5?4EFL F474 ?>4>?44O64NF =55>?LLGN ?>4GL>G 4?O >55E?5G5=<O 
7>D<7>=F4?L=>EF< F5?4.  
�?O D>=<D>64=<O >5?4EF< ?D><56=>EF< (�) GEF4=46?<64NF 

>4<= 6<5D>D>= 6 ?D><56GF>5 <564G 4=4?L=O< >F65DEF<5< < 
>>D=5< ?>?>6>7> G?5=4 ?>4 <>L>=>>=. �4=>6D5<5==> 6F>D>= 
6<5D>D>= GEF4=46?<64NF =4 >5?4EFL <>G56>7> ?G7ODO (��) 3 6 
=<6=5= G4EF< 6<6>F4 F4>, GF>5O F5=FD <5<5D4=O >>474?EO 6OL5 
?>5>4 =4 3-4 E<. 
$>=<D>64=<5 <>6=> E>6<5M4FL E ?5>4DEF65==>= F5D4?<5=. 

�5G5=<5 >EFD>7> ?D>EF4F<F4 E>G5F4NF E ?D<<5=5=<5< 
4=F<5<>F<>>6, =47=4G5==OE GD>?>7><. 
�E?< ?D< 6O?>?=5=<< ?D>F54GD ?> EE5<5 22 MDD5>F 

=54>EF4F>G5=, 65D>OF=> 5EFL 4DG7<5 D4>F>DO, >>F>DO5 
E?>E>5EF6GNF ?>445D64=<N 6>E?4?<F5?L=>7> ?D>F5EE4.  

1)  �4<5>?55 65D>OF=>= ?D<G<=>= <>65F 5OFL 5>?LL>= 
?D>F5=F ?>7<5L<E E?5D<4F>7><4>6, ?>EFG?4NM<E <7 O<G>4. � 
E>64?5=<N, ?D>6>4<<O5 4=4?<7O E?5D<O =5 44NF E6545=<= > 
>>?<G5EF65 ?>7<5L<E E?5D<4F>7><4>6 ED54< =5?>46<6=OE 
E?5D<4F>7><4>6. �>?<G5EF6> =5?>46<6=OE <>65F 5OFL 6 =>D<5, => 
?D>F5=F ?>7<5L<E G65 <>65F >>474FLEO 4>EF4F>G=O< 4?O 
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?>445D64=<O 6>E?4?5=<O.  
2)  �DG7>= ?D<G<=>=, F>D<>7OM5= 6O74>D>6?5=<5, <>65F 5OFL 

7DO64 <56?>76>=>>6>7> 4<E>4 6 ?>OE=<G=>->D5EFF>6>< >F45?5 
?>76>=>G=<>4. �E?< <<55FEO 7DO64, F> E=4G4?4 =5>5E>4<<> ?D>=F< 
>GDE ?> <5F>4<>5 D>=<D>64=<O ?D< <56?>76>=>>6>= 7DO65, 4 
F4>65 E>5?N44FL <5DO ?> 74M<F5 74>D>6LO ?>76>=>G=<>4. 

3)  &D5FL5= ?D<G<=>=, ?>445D6<64NM5= 6>E?4?<F5?L=O= 
?D>F5EE, <>7GF 5OFL >4<=< 6 ?D54EF4F5?L=>= 65?575 
(>4?L>G?57=O= ?D>EF4F<F). �D< >4?L>G?57=>< ?D>EF4F<F5 
6>745=EF6<5 =4 >5?4EFL � < �� =5 ?D>6>4OF, 4 74<5=ONF 55 =4 
D>=<D>64=<5 ?4E>6OE ?<<D4F<G5E><E G7?>6 (��'). 
$>=<D>64=<5 ?D>6>4OF ?> EE5<5 23. 

�>7<>6=>EFL >5>EFD5=<O. �E?< ?D>EF4F<F E>G5F45FEO E 
745>?564=<5< <>G56>7> ?G7ODO, 6 ?5D6O5 4=< E <>G>= <>7GF 
6OE>4<FL ?D>4G>FO >G<EF<F5?L=>-6>EEF4=>6<F5?L=OE ?D>F5EE>6. 
'5D57 =5E>>?L>> 4=5= <>G4 EF4=>6<FEO ?D>7D4G=>=, 5>?< ?D>E>4OF, 
7=4G<F5?L=> E>>D4M45FEO G<E?> <>G5<E?GE>4=<=, G?GGL45FEO 
?>F5=F<O, G4?<=O5FEO ?>?>6>= 4>F. 
�D< ED>=<G5E>>< ?D>EF4F<F5, 4465 ?D< ?>EF5?5==>< G65?<G5=<< 

6D5<5=< ?D>F54GDO, <>65F 6>7=<>=GFL >5>EFD5=<5 5>?57=5==>EF< 
6 >5?4EF< ?D54EF4F5?L=>= 65?57O. �D>F54GDO =5 ?D5>D4M4NF, 
>4=4>> =5>>F>D>5 6D5<O =5 G65?<G<64NF 6D5<O D>=<D>64=<O 4> 
<EG57=>65=<O 5>?57=5==>EF<. 
�D< =4?<G<< =56OO6?5==OE ?4F>?>7<= 6 >5?4EF< ?>OE=<G=>-

>D5EFF>6>7> >F45?4 ?>76>=>G=<>4, G5D57 =5E>>?L>> 4=5= <>7GF 
?>O6<FLEO 5>?57=5==O5 >MGM5=<O 6 >5?4EF< ?>OE=<FO <?< 4465 
5>?L, >F44NM4O 6 =>7G <?< 4DG7<5 >5?4EF< =<6=5= G4EF< F5?4. � 
MF>< E?GG45 4?O G<5=LL5=<O >EFD>FO D54>F<< >D74=<7<4 
6>76D4M4NFEO > =4G4?G < ?D>4>?64NF E ?5D6>7> 4=O EE5<O 
D>=<D>64=<O. 

�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 ?D>4>?64NF 4> 
4>EF<65=<O =5>5E>4<<>7> D57G?LF4F4. �D>4>?6<F5?L=>EFL >GDE4 
746<E<F >F >5M57> E>EF>O=<O < >F EF5?5=< 4=4F><<G5E><E 
=4DGL5=<= 6 ?D>EF4F5. �> 4>EF<65=<< 65?45<>7> D57G?LF4F4 6> 
<75564=<5 D5F<4<64 ?D>6>4OF ?>445D6<64NM<5 ?D>F54GDO 1-2 
D474 6 EGF>< 4-6 D47 6 =545?N.  
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%E5<4 22. $>=<D>64=<5 ?D< ?D>EF4F<F5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 $56<< 2 
�5=L 

� � �3 �31 �4 � < �� 

1-3 10 3 3 2 2 4 

4-9 15 5 4 3 3 7 

10-15 25 9 6 5 5 10 

44?55 30 10 10 5 5 15 

%E5<4 23. $>=<D>64=<5 ?D< >4?L>G?57=>< ?D>EF4F<F5. 
�D>F54GDO ?>6F>DONF 2-3 D474 6 EGF><. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � �3 �31 �4 ��'* 

1-3 10 3 3 2 2 3 

4-9 15 5 4 3 3 4 

10-15 25 9 6 5 5 5 

44?55 30 10 10 5 5 5 

*�D< D>=<D>64=<< >5?4EF< ��' 6<5D>D>=O GEF4=46?<64NF 
E<<<5FD<G=> =4 ?4E>6O5 ?<<D4F<G5E><5 G7?O ED47G =4 >55<E 
=>74E (D<E. 8). 

'?GGL5=<5 ?>F5=F<< 

&5?L D>=<D>64=<O. $>=<D>64=<5 <OL5G=OE EFDG>FGD 6 
>5?4EF< ?D><56=>EF< < <>G56>7> ?G7ODO (>5?4EF< � < ��) 
E?>E>5EF6G5F =4EOM5=<N <OL5G=OE >?5F>> D5EGDE4<<, 4, 
E>>F65FEF65==>, GE<?<645F 65?<G<=G MD5>F<<. $>=<D>64=<5 
>5?4EF< ?>76>=>G=<>4 (>5?4EF< �3, �31, �4) G?GGL45F 
?D>6>4<<>EFL =5D6=OE ?GF5= G?D46?5=<O MD5>F<5=, GF> 
E?>E>5EF6G5F G65?<G5=<N ?D>4>?6<F5?L=>EF< MD5>F<<.  

�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 24. �D>F54GDO 
?>6F>DONF 1-3 D474 6 EGF><. �=>744 4>EF4F>G=> <5EF=>7> 
6>745=EF6<O =4 ?D><56=>EFL < >5?4EFL <>G56>7> ?G7ODO (� < ��), 
=> MDD5>F ?D>?>DF<>=4?5= EG<<4D=>= =4>>??5==>= 4>75 < 
>>?<G5EF6G >5?4EF5= D>=<D>64=<O. 
$>=<D>64=<5 ?D>6>4OF ?564 =4 E?<=5. �D< =5>5E>4<<>EF< ?>4 

>5?4EFL F474 ?>4>?44O64NF =55>?LLGN ?>4GL>G 4?O >55E?5G5=<O 
7>D<7>=F4?L=>EF< F5?4.  
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�?O D>=<D>64=<O >5?4EF< ?D><56=>EF< (�) GEF4=46?<64NF >4<= 
6<5D>D>= 6 ?D><56GF>5 <564G 4=4?L=O< >F65DEF<5< < >>D=5< 
?>?>6>7> G?5=4 ?>4 <>L>=>>=. �4=>6D5<5==> 6F>D>= 6<5D>D>= 
GEF4=46?<64NF =4 >5?4EFL <>G56>7> ?G7ODO (��) 3 6 =<6=5= G4EF< 
6<6>F4 F4>, GF>5O F5=FD <5<5D4=O >>474?EO 6OL5 ?>5>4 =4 3-4 E<. 

�D>4>?6<F5?L=>EFL >GDE4: 1-3 <5EOF4, 44?55 
?D>D<?4>F<G5E>< ?> 1-2 ?D>F54GDO 6 F5G5=<5 EGF>> ?>E?5 ?>?>6>7> 
4>F4. 

%E5<4 24. $>=<D>64=<5 4?O G?GGL5=<O ?>F5=F<<. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 $56<< 2 �5=L 
� � �3 �31 �4 � < �� 

1-2 10 3 3 2 2 4 

3-6 15 5 4 3 3 7 

7-10 25 9 6 5 5 10 

44?55 30 10 10 5 5 15 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



28 

���%��� ���$��,� 

�>?57=5==O5 <5=EFDG4F<<  

&5?L D>=<D>64=<O. $>=<D>64=<5 E?>E>5EF6G5F =>D<4?<74F<< 
< E>7?4E>64=<N F>=GE4 6E5E <OL5G=OE E?>56 6 >5?4EF< <4F><. -F> 
E?>E>5EF6G5F ?57>>EF< < 5575>?57=5==>EF< >G<EF<F5?L=>7> 
?D>F5EE4. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?>E?54>64F5?L=> ?> EE5<4< 

25 < 26. �5D6O= >GDE =4G<=4NF ED47G ?>E?5 <5=EFDG4F<< ?> EE5<5 
25. �>6F>D=O5 >GDEO ?D>6>4OF ?> EE5<5 26. �D>F54GDO ?>6F>DONF 
1-2 D474 6 EGF>< 6-7 4=5= 6 =545?N. 
� ?D< ?5D6>< >GDE5, < ?D< ?>6F>D=OE 6 ?5D<>4 <5=EFDG4F<< 

>5?4EFL �1 >F45?L=> D>=<DGNF ?> 3 <<=GFO 5M5 1-3 D474 E 
<=F5D64?>< =5 <5=55 2 G4E>6, GF>5O 6 EG<<5 =4 >5?4EFL �1 5O?> 4 
?D>F54GDO. 

%E5<4 25. $>=<D>64=<5 ?D< 5>?57=5==OE <5=EFDG4F<OE. 
�5D6O= >GDE.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O 
(<<=) 

$56<< 2 $56<< 1 �5=L 

� � �1 �3 �4 

1-3 10 2 2 3 3 

4-9 20 8 4 4 4 

10-15 25 10 5 5 5 

44?55 4> =4G4?4  
<5=EFDG4F<< 

35 15 10 5 5 

?5D<>4 <5=EFDG4F<< 30 17 3 5 5 

%E5<4 26. $>=<D>64=<5 ?D< 5>?57=5==OE <5=EFDG4F<OE. 
�>6F>D=O5 >GDEO.  

$56<<, >5?4EF< < 6D5<O 
D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5D<>4 

� � �1 �3 �4 

?5D<>4 <564G <5=EFDG4F<O<< 32 15 7 5 5 

?5D<>4 <5=EFDG4F<< 30 17 3 5 5 
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�4DGL5=<5 <5=EFDG4?L=>7> F<>?4  

&5?L D>=<D>64=<O. $>=<D>64=<5 E?>E>5EF6G5F G?GGL5=<N 
?<F4=<O DG=>F<>=4?L=OE >?5F>> < =>D<4?<74F<< <E F<>?>6>= 
4>F<6=>EF<.   
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<4< 25 < 26. �5D6O= 

>GDE ?D>6>4OF ?> EE5<5 25. �7> =4G<=4NF ED47G ?>E?5 >>>=G4=<O 
<5=EFDG4F<<, 5E?< <5=EFDG4F<< >FEGFEF6GNF 3 6 ?N5>= 45=L. 
�>6F>D=O5 >GDEO ?D>6>4OF ?> EE5<5 26. 

%5D>7=O= <4EF<F 
&5?L D>=<D>64=<O 3 GEFD4=5=<5 74EF>==OE O6?5=<=, 

G?GGL5=<5 ?<<D>4D5=464 < ?>6OL5=<5 <5EF=>7> <<<G=<F5F4, 
GE>>D5=<5 746<6?5=<O FD5M<=, G5D57 >>F>DO5 <>65F ?D>=<>=GFL 
<=D5>F<O. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 27. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF>< 7 4=5= 6 =545?N.  
�<5D>D>=O =4 >5?4EFL 745>?564=<O (<>?>G=4O 65?574) 

GEF4=46?<64NF DO4>< E 5>?57=5==O<< G??>F=5=<O<< =4 74>D>6O5 
F>4=< 7DG4<, D4E?>?>65==O5 5?<65 > ?>4<OL5G=>= 6?44<=5. 

%E5<4 27. $>=<D>64=<5 ?D< E5D>7=>< <4EF<F5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � D2 �1 

�5?4EFL 
745>?564=<O 

1 10 3 2 2 3 

2-3 20 8 3 3 6 

4-6 25 12 3 3 7 

7-14 30 14 3 3 10 

�4>F>EF47  
&5?L D>=<D>64=<O 3 GEFD4=5=<5 74EF>==OE O6?5=<= 6 

?D>F>>4E <>?>G=OE 65?57. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 28. �D>F54GDO 

?>6F>DONF 4 D474 6 EGF><. 
�D>4>?6<F5?L=>EFL >GDE4: 4> <EG57=>65=<O E<<?F><>6 < 5M5 

2 4=O ?>E?5. 
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%E5<4 28. $>=<D>64=<5 ?D< ?4>F>EF475.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� 

&5=FD 7DG4< 
4 E< 6OL5 E>E>4 

1 < 44?55 5 5 

'?GGL5=<5 ?4>F4F<< 
&5?L D>=<D>64=<O 3 G?GGL5=<5 ?<F4=<O >?5F>> <>?>G=OE 

65?57 < 4>F<64F<O ?4>F4F<<.  
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 29. �D>F54GDO 

?>6F>DONF 2-4 D474 6 EGF>< ?>E?5 >>D<?5=<O. 
�D>4>?6<F5?L=>EFL >GDE4: 65EL ?5D<>4 >>D<?5=<O < 5M5 2 

=545?<. 

%E5<4 29. $>=<D>64=<5 4?O G?GGL5=<O ?4>F4F<< < 
?D>D<?4>F<>< ?4>F>EF474.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � 

&5=FD 7DG4< 
4 E< 6OL5 E>E>4 

1 < 44?55 10 5 5 
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'$�����'�%��� ����������/  

�>G5G=4O =54>EF4F>G=>EFL 
&5?L D>=<D>64=<O. $>=<D>64=<5 >><?5=E<DG5F 45D<F<F 

<<>D>6<5D4F<<, G?GGL45F >D>6>E=4565=<5 < ?<<D>>FF>> 6 
>5?4EF< ?>G5> (�). �>745=EF6<5 =4 >5?4EFL 7DG4=>7> >F45?4 
?>76>=>G=<>4 6>EEF4=46?<645F ?D>E>4<<>EFL =5D6=OE ?GF5=, 
E6O7O64NM<E ?>G>< E >>D>= 7>?>6=>7> <>774.  
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 30. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF><. 
�D>4>?6<F5?L=>EFL >GDE4: 3 <5EOF4. �GDE ?>6F>DONF 2 D474 6 

7>4. � >EF4?L=>5 6D5<O ?D>6>4OF ?>445D6<64NM<5 ?D>F54GDO: 
D>=<DGNF F>?L>> >5?4EF< ?>G5> (�) < ?5G5=< (�) 2 D474 6 EGF>< 7 
4=5= 6 =545?N. 

%E5<4 30. $>=<D>64=<5 ?D< ?>G5G=>= =54>EF4F>G=>EF<.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � �2 �<6=OO �11 < 65DE=OO �21 

1-2 6 2 2 2 

3-6 10 4 3 3 

7-10 15 6 5 4 

11-15 20 10 5 5 

16-20 25 13 6 6 

44?55 30 16 7 7 

%D>=<G5E><= ?<5?>=5DD<F 
&5?L D>=<D>64=<O 3 ?>6OL5=<5 <5EF=>7> <<<G=<F5F4, 

G?GGL5=<5 >D>6>E=4565=<O, ?<<D>>FF>>4. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 31. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF><. � >EFD>= D475 ED>=<G5E>>7> 
?<5?>=5DD<F4 D>=<D>64=<5 ?D>6>4<FEO 6 E>G5F4=<< E 
<54<>4<5=F>7=>= F5D4?<5=, 6 EF44<< D5<<EE<< 3 557 =55.  
�>7<>6=>EFL >5>EFD5=<O. �5G5=<5 ED>=<G5E>>7> 

?<5?>=5DD<F4 <>65F ?D>F5>4FL E 6D5<5==O< >5>EFD5=<5<. 
�D>F54GDO D>=<D>64=<O =5 ?D5>D4M4NF. 
�D>4>?6<F5?L=>EFL >GDE4. �5G5=<5 ?D>6>4OF 4> 

6O74>D>6?5=<O (>FEGFEF6<5 E<<?F><>6 745>?564=<O < =>D<4?L=O5 
4=4?<7O <>G<). �4?55 ?>445D6<64NM<5 ?D>F54GDO: D>=<DGNF 
F>?L>> >5?4EF< ?>G5> (�) < ?5G5=< (�) 1-2 D474 6 EGF>< 5-7 4=5= 6 
=545?N. 
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%E5<4 31. $>=<D>64=<5 ?D< ?<5?>=5DD<F5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � �2 �<6=OO �11 < 65DE=OO �21 

1-2 2 - - - 

3-8 8 3 3 2 

9-14 14 6 4 4 

15-20 20 10 5 5 

44?55 30 16 7 7 

&<EF<F < =4DGL5=<5 <>G5<E?GE>4=<O 

&5?L D>=<D>64=<O. $>=<D>64=<5 ?D>6>4OF E F5?LN G?GGL5=<O 
>D>6>E=4565=<O < E=OF<O >F5>4 6 >5?4EF< <4?>7> F474, <>G56>7> 
?G7ODO < =>D<4?<74F<< F>=GE4 <OLF <>G56>7> ?G7ODO < 
<OL5G=>7> ED<=>F5D4. -F> ?>76>?O5F GEFD4=<FL 5>?56O5 
>MGM5=<O, 6>E?4?<F5?L=O5 O6?5=<O 6 <>G56>< ?G7OD5, 
=>D<4?<7>64FL <>G5<E?GE>4=<5, GEFD4=<FL ?D<G<=G =545D64=<O < 
G?GGL<FL >5M55 E>EF>O=<5. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 32. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF><. � EF44<< >5>EFD5=<O F<EF<F4 
D>=<D>64=<5 6O?>?=O5FEO 6 E>G5F4=<< E <54<>4<5=F>7=>= 
F5D4?<5=. � EF44<< D5<<EE<< D>=<D>64=<5 <>6=> ?D>6>4<FL 557 
?D>F<6>6>E?4?<F5?L=OE ED54EF6.  
�4 >5?4EFL <>G56>7> ?G7ODO (��) >54 6<5D>D>=4 

GEF4=46?<64NF 6 =<6=5= G4EF< 6<6>F4 F4>, GF>5O F5=FD <5<5D4=O 
>>474?EO 6OL5 ?>5>4 =4 3-4 E<. 
�>7<>6=>EFL >5>EFD5=<O. �D< =45>D5 4>7O, =4 3-5 45=L 

G65?<G5=<O 6D5<5=< D>=<D>64=<O ?>76>=>G=<>4, <>7GF ?>O6<FLEO 
5>?57=5==O5 >MGM5=<O, 6O764==O5 6>EEF4=>6?5=<5< 
GG6EF6<F5?L=>EF< =5D6=OE F>4=5= 6 7>=4E ED>=<G5E>>7> >F5>4. 
$>=<D>64=<5, =5E<>FDO =4 5>?57=5==>EFL, ?D>4>?64NF. 
�D>4>?6<F5?L=>EFL >GDE4: 4> ?>?=>7> 6O74>D>6?5=<O, 44?55 

?5D5E>4OF > ?>445D6<64NM<< ?D>F54GD4<: 1-2 D474 6 EGF>< 2-6 D47 
6 =545?N. 
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%E5<4 32. $>=<D>64=<5 ?D< F<EF<F5 < =4DGL5=<< 
<>G5<E?GE>4=<O.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 $56<< 2 �5=L 
� � �3 �31 �4 �� 

1 10 4 2 2 2 3 

2-4 15 5 4 4 2 9 

5-7 20 6 5 5 4 13 

44?55 25 10 5 5 5 15 

�545D64=<5 <>G< 
&5?L D>=<D>64=<O - G>D5??5=<5 <OLF ED<=>F5D4 L5=>< 

<>G56>7> ?G7ODO. � D57G?LF4F5 D>=<D>64=<O G?GGL45FEO ?<F4=<5 

>4> <OL5G=OE, F4> < =5D6=OE >?5F>>. '65 G5D57 1 - 2 =545?< 

=5?D><76>?L=O5 ?>F5D< <>G< EF4=>6OFEO D565, 4 >>?<G5EF6> 

<5=LL5. �4=4>> 4?O GEF>=G<6>7> < ?>?=>F5==>7> MDD5>F4 

?>FD55G5FEO 6O?>?=OFL D>=<D>64=<5 6 F5G5=<5 1-3 <5EOF56. �D< 

FO65?>= EF5?5=< D4EEFD>=EF64 <>65F ?>FD55>64FLEO 5>?LL5 

6D5<5=<. 

�5?4EFL <OL5G=>7> ED<=>F5D4 D>=<DGNF E> EF>D>=O <>G56>7> 
?G7ODO < ?D><56=>EF<. �D< D>=<D>64=<< ?D><56=>EF< 
4>?>?=<F5?L=> G>D5??ONFEO <OLFO F47>6>7> 4=4. �46=>= 
E>EF46?ONM5= O6?O5FEO D>=<D>64=<5 ?>OE=<G=>->D5EFF>6>7> 
>F45?4 ?>76>=>G=<>4. �7-74 ?D>5?5< 6 MF>= >5?4EF< (7DO64, 
>EF5>E>=4D>7, FD46<4, >?5D4F<O < 4D.) <>65F 5OFL =4DGL5=> 
?<F4=<5 < E>>F65FEF65==> ?D>6>4<<>EFL =5D6=OE ?GF5=, ?> 
>>F>DO< ?5D5445FEO G?D46?5=<5 =4 <OLFO ED<=>F5D4. �5D54>> 
MF> O6?O5FEO ?5D6>?D<G<=>= =545D64=<O <>G<.  
$>=<D>64=<5 >5?4EF< ?>G5> (�) G?GGL45F <E DG=>F<N, GF> 

5?47>F6>D=> E>47O645FEO =4 E>EF>O=<< 6E5= <OL5G=>= E<EF5<O 
>D74=<7<4. � D57G?LF4F5 G?GGL45FEO E4<>GG6EF6<5 < ?>6OL45FEO 
D45>F>E?>E>5=>EFL. �>E>>?L>G =4 D>D<<D>64=<5 <OL5G=OE 
D5EGDE>6 6?<O5F < DG=>F<O ?5G5=<, F> >?D545?5==4O ?>?L74 5EFL < 
>F D>=<D>64=<O MF>7> >D74=4. �D< =4?<G<< 6D5<5=< >5?4EFL 
?5G5=< (�) <>6=> F4>65 6>?NG<FL 6 ?D>7D4<<G D>=<D>64=<O. 
-DD5>F ?D>?>DF<>=4?5= >>?<G5EF6G ?D>F54GD 6 =545?N, => ?>?L74 
5EFL 4465 >F >4=>7> D>=<D>64=<O. $>=<D>64=<5 ?D>6>4OF ?> 
EE5<5 33. 
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�%�� - �5?4EFL <OL5G=>7> ED<=>F5D4 E> EF>D>=O <>G56>7> 
?G7ODO (>54 6<5D>D>=4 DO4>< GGFL 6OL5 ?>5>4). 
�%� - �5?4EFL <OL5G=>7> ED<=>F5D4 E> EF>D>=O ?D><56=>EF< 
(>54 6<5D>D>=4). 
%E5<4 33. $>=<D>64=<5 ?D< =545D64=<< <>G<. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=)  

$56<< 2 $56<< 1 �5=L 
� �%�� �%� �3 �4 

1 10 2 2 3 3 

2 14 4 4 3 3 

3 20 6 6 4 4 

4 24 8 8 4 4 

44?55 30 10 10 5 5 

�D< =54>EF4F>G=>EF< MDD5>F4 <>6=> 4>?>?=<F5?L=> 

D>=<D>64FL >5?4EFL �, =4G<=4O E 5 <<=GF < 5654=56=> 

G65?<G<64O =4 2 <<=GFO. �>EF4F>G=>5 6D5<O D>=<D>64=<O 15 

<<=GF. 
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����������/ ���'��'��-��,�'���� &$��&� 

%D>=<G5E><= 74EFD<F 
&5?L D>=<D>64=<O 3 =>D<4?<74F<O F>=GE4 <OL5G=OE F>4=5= 

65?G4>4, =>D<4?<74F<O ><E?>F>>5D47>64=<O, G?GGL5=<5 

>D>6>E=4565=<O < D575=5D4F<6=>7> ?D>F5EE4 6 E?<7<EF>= 65?G4>4. 

�4>D>6O5 >?5F>< - >E=>64 <<<G=<F5F4. �G<EF>4 F>4=5= >F ?>7<5L<E 
>?5F>> < G?GGL5=<5 ?<F4=<O 74>D>6OE >?5F>> E?>E>5EF6G5F 
746<6?5=<N E?<7<EF>= < 6O74>D>6?5=<N.  

�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 34. �D>F54GDO 
?>6F>DONF 2-3 D474 6 EGF>< 5-7 4=5= 6 =545?N. $>=<D>64=<5 
E>G5F45FEO E <54<>4<5=F>7=>= F5D4?<5=, => <>65F ?D>6>4<FLEO < 
557 =55. 
�D>4>?6<F5?L=>EFL >GDE4 3 3 <5EOF4. �4?55 ?D>6>4OF 

?>6F>D=O5 >GDEO ?> 1 <5EOFG 1-3 D474 6 7>4. 

%E5<4 34. $>=<D>64=<5 ?D< 74EFD<F5 < 4G>45=<F5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 

�5=L 
� 

�D>5>F<O 
>5?4EF< 
5>?< =4 
6<6>F 

� �21 �2 �11 

1 7 2 2 1 1 1 

2-5 15 6 4 2 2 1 

6-10 25 11 6 3 3 2 

11-15 30 14 7 3 3 3 

44?55 35 15 8 4 4 4 

�G>45=<F 
&5?L D>=<D>64=<O. $>=<D>64=<5 >5?4EF< 5>?< O6?O5FEO 

>4=<< <7 =4<5>?55 MDD5>F<6=OE <5F>4>6 6>EEF4=>6?5=<O 

E?<7<EF>= >5>?>G>< 65?G4>4 < 465=44F4F<?5DEF=>= ><L><.  
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> <5F>4<>5 D>=<D>64=<O 

?D< 74EFD<F5 (EE5<4 34).  
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�4?>D 
&5?L D>=<D>64=<O. $>=<D>64=<5 E?>E>5EF6G5F G?GGL5=<N 

>D>6>E=4565=<O < 6>EEF4=>6?5=<N ?<F4=<O <OL5G=OE >?5F>> 6 
>5?4EF< ><L5G=<>4, 4 F4>65 6>EEF4=>6?5=<N ?D>E>4<<>EF< 
=5D6=OE ?GF5=, <4GM<E >F ><L5G=<>4 G5D57 >5?4EFL ?>OE=<G=>7> < 
>D5EFF>6>7> >F45?>6 ?>76>=>G=<>4. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 35. �D< 

=54>EF4F>G=>EF< MDD5>F4, E?45>EF<, ED>=<G5E>>= GEF4?>EF< < 
E>?>==>EF< > �$�� D>=<D>64=<5 ?D>6>4OF ?> EE5<5 36. 
�D>F54GDO ?>6F>DONF 2-3 D474 6 EGF><. �E?< >?>D>6=5=<O =5 
5O?> 5>?55 5-7 4=5=, ?5D54 ?D>F54GD>= 65?4F5?L=4 >?<7<4.  
�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 ?D>6>4OF 4> 

=>D<4?<74F<< >?>D>6=5=<O ><L5G=<>4 < 44?55 ?D>D<?4>F<G5E>< 
=545?L=O< >GDE>< 2-4 D474 6 7>4. 

%E5<4 35. $>=<D>64=<5 ?D< 74?>D5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
�4 �3 �3 �2 �1 

1 4 1 1 1 1 

2-3 8 2 2 2 2 

44?55 12 3 3 3 3 

%E5<4 36. 'E<?5==4O <5F>4<>4 D>=<D>64=<O ?D< 74?>D5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� �4 �3 �3 �2 �1 

1 10 5 2 1 1 1 

2-5 18 7 3 3 3 2 

6-9 25 10 6 3 3 3 

44?55 30 12 7 3 3 5 
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�5<>DD>= 

&5?L D>=<D>64=<O. $>=<D>64=<5 E?>E>5EF6G5F 
6>EEF4=>6?5=<N F>=GE4 65=>7=OE E>EG4>6, 4, E>>F65FEF65==>, 
G?GGL45F >FF>> 65=>7=>= >D>6< <7 75<>DD><44?L=>7> E??5F5=<O. 
$>=<D>64=<5 ?>OE=<G=>7> < >D5EFF>6>7> >F45?>6 ?>76>=>G=<>4 
6>EEF4=46?<645F ?D>6>4<<>EFL =5D6=OE ?GF5= < =>D<4?<7G5F 
?5D<EF4?LF<>G ><L5G=<>4. $57G?LF4F<6=>EFL D>=<D>64=<O 5G45F 
746<E5FL >F F>7>, E>ED4=<?4EL >?4?4==4O E<EF5<4 6=GFD< 65= <?< 
=5F. �E?< >?4?4=O >5D4F=>7> F>>4 >D>6< =5 ?>6D5645=O, F> >F 
75<>DD>O <>6=> <7546<FLEO ?>?=>EFLN. �E?< 65 >=< =5 
DG=>F<>=<DGNF, F> ?>FD55G5FEO ?5D<>4<G5E>>5 ?>445D6<64NM55 
?5G5=<5. 
�5F>4<>4. � D>=<D>64=<N <>6=> ?D<EFG?4FL F>?L>> ?>E?5 

GEF4=>6>< 4<47=>74 6D4G>< < ?D< >FEGFEF6<< >EFDOE >E?>6=5=<=, 
FD55GNM<E 7>E?<F4?<74F<< 5>?L=>7>. $>=<D>64=<5 ?D>6>4OF ?> 
EE5<5 37 6 ?>?>65=<< ?564 =4 E?<=5. �D< D>=<D>64=<< ?>4 
O7>4<FO =44> >5O74F5?L=> ?>4?>6<FL =55>?LLGN ?>4GL>G F4>, 
GF>5O >5?4EFL 6<6>F4 5O?4 6OL5 >5?4EF< E5D4F4! �E?< MDD5>F 
=54>EF4F>G5=, ?D<<5=ONF GE<?5==GN <5F>4<>G ?> EE5<5 38. 
�D>F54GDO ?>6F>DONF 2-3 D474 6 EGF><. 
$>=<D>64=<5 E>G5F45FEO E ?5>4DEF65==>= F5D4?<5=, 

=47=4G5==>= 6D4G><.  
�E?< 75<>DD>N E>?GFEF6G5F ED>=<G5E><= 74?>D, F> <5F>4<>< 

D>=<D>64=<O ?D< 75<>DD>5 (EE5<4 37) < ?D< 74?>D5 (EE5<4 35) 
G5D54GNF >464O5 3-4 =545?<. 
�>7<>6=>EFL >5>EFD5=<O. �D< ED>=<G5E>>< 745>?564=<< 

<=>744 ?>E?5 ?5D6OE =5E>>?L><E ?D>F54GD >D>6>F5G5=<5 <>65F 
GE<?<FLEO, => 6E>>D5 ?D5>D4M45FEO. $>=<D>64=<5 6 ?5D<>4 
GE<?5=<O >D>6>F5G5=<O =5 ?D5>D4M4NF. 
�D>4>?6<F5?L=>EFL >GDE4 3 3 <5EOF4 < 5>?55 4> F5E ?>D, ?>>4 

?D>4>?64NFEO G?GGL5=<O. �4?55 ?D>6>4OF ?>445D6<64NM<5 
?D>F54GDO 1-5 D47 6 =545?N.  
 
 
 
 
 
 
 
 
 



38 

%E5<4 37. $>=<D>64=<5 ?D< 75<>DD>5. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 �5=L 
� �4 �31 �3 �1 

1 4 1 1 1 1 

2-5 15 3 3 4 5 

6-9 20 5 4 4 7 

44?55 25 5 5 5 10 

%E5<4 38. 'E<?5==4O <5F>4<>4 D>=<D>64=<O ?D< 75<>DD>5. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� �4 �31 �3 �1 � 

1 5 1 1 1 1 1 

2-5 15 3 3 2 5 2 

6-9 25 5 5 4 7 4 

44?55 30 5 5 5 10 5 

�>?<>< 

&5?L D>=<D>64=<O 3 =>D<4?<74F<O <>F>D<>< ><L5G=<>4 < 
G?GGL5=<5 ?<M564D5=<O. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 39. �D>F54GDO 

?>6F>DONF ?5D54 >464O< >>D<?5=<5<. 
�D>4>?6<F5?L=>EFL >GDE4 3 4> =>D<4?<74F<< ?<M564D5=<O < 

G<5=LL5=<O 747>>5D47>64=<O. 

%E5<4 39. $>=<D>64=<5 ?D< >>?<>4E G 45F5=. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 1 �5=L 
� �2 

1 < 44?55 3 3 
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%�$��'��-%�%'��%&/� ����������/ 

%F5=>>4D4<O. �L5<<G5E>4O 5>?57=L E5D4F4 (��%) 

&5?L D>=<D>64=<O. $>=<D>64=<5 >EGM5EF6?O5FEO E F5?LN 
G<5=LL5=<O 4DF5D<4?L=>7> 446?5=<O, G<5=LL5=<O 74?474O64=<O 
D4EE?45?5=<O 4>DFO, G?GGL5=<O ?<F4=<O E5D45G=>= <OLFO < 
G65?<G5=<O >5M<E <OL5G=OE D5EGDE>6. � D57G?LF4F5 G<5=LL45FEO 
=47DG7>4 =4 E5D4F5. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 40. �D>F54GDO 

?>6F>DONF 1-2 D474 6 EGF>< 5-7 4=5= 6 =545?N. 

�D>4>?6<F5?L=>EFL >GDE4 3 3 <5EOF4. �GDE ?>6F>DONF 2-3 
D474 6 7>4.  

%E5<4 40. $>=<D>64=<5 ?D< ��%, EF5=>>4D4<<.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� % � �1 �11 �2 

1-2 5 2 3 - - - 

3-8 10 5 5 - - - 

9-14 20 10 10 - - - 

15-20 25 10 10 2 1 2 

21-26 30 10 10 4 2 4 

44?55 35 10 10 5 5 5 

�>E?54EF6<O <=EG?LF4  

&5?L D>=<D>64=<O 3 G65?<G5=<5 >5M<E D5EGDE>6 >D74=<7<4, 
GF> ?>76>?<F GE>>D<FL F5<? 6>EEF4=>6?5=<O < ?>6OE<FL EF5?5=L 
D545<?<F4F<<. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 41. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF>< ?5D6O5 FD< <5EOF4, 44?55 1-3 D474 6 
EGF>< 5-7 4=5= 6 =545?N. $>=<D>64=<5 =4G<=4NF, >>744 6E5 
D54=<<4F<>==O5 <5D>?D<OF<O 7465DL5=O < E>EF>O=<5 EF45<?L=>5 
(?D<<5D=> G5D57 1-3 <5EOF4 ?>E?5 <=EG?LF4).  
�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 ?D>4>?64NF 3 

<5EOF4 < 5>?55 4> F5E ?>D, ?>>4 <4GF G?GGL5=<O. �4?55 3 
?>6F>D=O5 >GDEO ?> FD< <5EOF4 2-3 D474 6 7>4. 
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%E5<4 41. $>=<D>64=<5 4?O D545<?<F4F<< ?>E?5 <=EG?LF4. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � 

1-2 5 5 

3-8 10 7 

9-14 20 12 

15-20 25 14 

21-26 30 15 

44?55 40 15 

�D<F<<O 

&5?L D>=<D>64=<O. $>=<D>64=<5 ?D>6>4OF E F5?LN G?GGL5=<O 
E>EF>O=<O 7DG4=>7> >F45?4 ?>76>=>G=<>4 (>5?4EF< �11, �2) < 
G65?<G5=<O >5M<E D5EGDE>6 >D74=<7<4 (>5?4EF< � < �). 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 42. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF><. �5?4EF< �1 < �21 G5D54GNF >F 
?D>F54GDO > ?D>F54GD5.  
�5D6O5 1-2 =545?< >4=G ?D>F54GDG 65?4F5?L=> ?D>6>4<FL 6 

E5D54<=5 =>G<. -F> ?>76>?<F <75564FL <?< G<5=LL<FL >F5>, >5OG=> 
D476<64NM<=EO =>GLN < O6?ONM<=EO ?D<G<=>= GFD5==5= 
E>>64==>EF< < =4DGL5=<O >D>6>E=4565=<O =5D6=OE ?GF5=. 
�>7<>6=>EFL >5>EFD5=<O. �E?< ?D<G<=4 4D<F<<< E6O74=4 E 

E>EF>O=<5< 7DG4=>7> >F45?4, F> E =4G4?>< D>=<D>64=<O 
=45?N445FEO >5>EFD5=<5 4D<F<<G5E><E ?D>O6?5=<=, >>F>D>5 6E>>D5 
E<5=O5FEO G?GGL5=<5<. �4?55 4D<F<<O G<5=LL45FEO, => =4 
=5>>F>D>5 6D5<O <>65F ?>O6<FLEO =55>?LL4O 5>?57=5==>EFL 6 
>5?4EF< 7DG4=>7> >F45?4, >>F>D4O F>65 6E>>D5 ?D>E>4<F.  
�D>4>?6<F5?L=>EFL >GDE4 3 3 <5EOF4. �GDE ?>6F>DONF 2-3 

D474 6 7>4.  
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%E5<4 42. $>=<D>64=<5 ?D< 4D<F<<<.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � E11 E2 E1/E21 

1-2 8 5 1 1 1 

3-8 16 7 3 3 3 

9-14 20 8 4 4 4 

15-20 26 9 6 6 5 

44?55 30 10 7 7 6 

 &D>D<G5E><5 O76O =4 =>74E 

&5?L D>=<D>64=<O. '?GGL5=<5 D575=5D4F<6=>7> ?D>F5EE4 74 
EG5F =>D<4?<74F<< ?>>4?L=>7> >D>6>>5D4M5=<O, ?<<D>F>>4 < 
>><?5=E4F<< 45D<F<F4 <<>D>6<5D4F<<.  
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 43. %E5<4 

D4745?5=4 =4 2 G4EF<: 6 >464GN ?D>F54GDG =5>5E>4<<> 6O?>?=<FL 
>55 G4EF<. �D>F54GDO ?>6F>DONF 2-3 D474 6 EGF>< 5-7 4=5= 6 
=545?N. �5?4EFL FD>D<G5E>>= O76O <>6=> 4>?>?=<F5?L=> 
D>=<D>64FL 5M5 1 D47 6 EGF><. 
�=<<4=<5! � >5?4EF< FD><54 (5?<65 7 E< >F =57>) 6>745=EF6<5 

=5 ?D>6>4<FL. 
�4<= D47 6 45=L ?5D54 65G5D=5= ?D>F54GD>= >D4O O76O 

?D>F<D4NF ??>F=>= E4?D5F>>=, E<>G5==>= D4EF6>D>< =>44 <?< 
4DG7<< 4=F<E5?F<>><, 74E64FO64O ?D< MF>< 5-10 << ?>D465==>= 
>5?4EF<. �<5D>D>=O GEF4=46?<64NF ?> >D4O< O76O (E65DEG-E=<7G; 
E?D464-E?564). �?O D<>E4F<< 6<5D>D>=>6 <>6=> <E?>?L7>64FL 
D<>E<DGNM<5 <4=65FO 4?O EGEF46>6. � ?5D<>4 D>=<D>64=<O 
=<>4><5 <47< =5 ?D<<5=ONF. 
�D< D>=<D>64=<< >5?4EF< ��' 6<5D>D>=O GEF4=46?<64NF =4 

?4E>6O5 ?<<D4F<G5E><5 G7?O F>= =>7<, >>F>D4O ?>D465=4 
FD>D<G5E>>= O76>=.  
�D>4>?6<F5?L=>EFL >GDE4 3 4> ?>?=>7> 746<6?5=<O O76 ??NE 1 

=545?O. 
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%E5<4 43. $>=<D>64=<5 ?D< FD>D<G5E>>= O765. '4EFL 1. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 
�5=L 

� � �4 �3 
�5?4EFL 

?>4>>?5==>= 
O<>< 

��'* 

1-2 10 5 2 2 - 1 

3-6 18 7 4 4 1 2 

7-10 26 10 5 5 3 3 

44?55 32 10 6 6 5 5 

* ��' 3 >5?4EFL ?4E>6OE ?<<D4F<G5E><E G7?>6 
%E5<4 43. $>=<D>64=<5 ?D< FD>D<G5E>>= O765. '4EFL 2. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 1 �5=L 
%65DEG < E=<7G 
>5?4EF< O76O 

%?564 < E?D464 >5?4EF< 
O76O 

1-2 3 3 

3-6 7 7 

44?55 10 10 
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�$�%&'��, �$�, ������, �$��%�& 

�5M<5 ?>?>65=<O 

�D>EFG44 3 5OF>6>5 =4764=<5 745>?564=<O 4OE4F5?L=OE ?GF5=, 
E?D>6>F<D>64==>5 >E?4645=<5< < E>?D>6>644NM55EO =4E<>D>>< 
<?< >4L?5<.  
�OE4F5?L=O5 ?GF< - MF> 54<=EF65==O= >F>DOFO= ?GFL 6 

EF5D<?L=GN 6=GFD5==NN ED54G >D74=<7<4 - 4?L65>?O. �?O 74M<FO 
>F ?D>=<>=>65=<O <=D5>F<< < ?O?< 6> 6D5<O 4OE4=<O E?<7<EFO5 
?47GE< =>E4, =>E>7?>F>< < 5D>=E>6 6O45?ONF E?<7L, >>F>D4O 
7445D6<645F ?O?L < 4DG7<5 <<>D>G4EF<FO, E >>F>DO<< < ?>?4445F 
6=GFDL >D74=<7<4 <=D5>F<O. �E?< E?<7<EFO5 4OE4F5?L=OE ?GF5= =5 
E?D46?ONFEO E 74M<F=>= DG=>F<5=, F> F>744 < =4G<=45FEO 
745>?564=<5 =>E>7?>F>< (=4E<>D>, 4=7<=4) <?< 5D>=E>6 (5D>=E<F).   
&5?L D>=<D>64=<O - ?>6OE<FL 74M<F=GN DG=>F<N E?<7<EFOE 

>5>?>G5> 4OE4F5?L=OE ?GF5=. �>E>>?L>G 5>?57=L =4G<=45FEO, >>744 
747DO7=5=<5 E?<7<EFOE G65 ?D><7>L?>, F> ?5D54 D>=<D>64=<5< ?> 
6>7<>6=>EF< <4>E<<4?L=> >G<M4NF 4>EFG?=O5 G4EF< E?<7<EFOE >F 
E>>??5=<O 747DO7=5==>= <>>D>FO. &4> ?D< D<=<F5 (=4E<>D>5) E 
?><>MLN 64F=OE ?4?>G5>, E<>G5==OE 6 F5??>= ><?OG5=>= 6>45, 
>G<M4NF =4DG6=O5 ?47GE< =>E4. �4FG =4 ?4?>G>4E E<4G<64NF 4> 
?57>>7> =45GE4=<O < EG<M4NF E 4>EFG?=OE EF5=>> ?47GE =>E4 6E5 
E>>??5=<O. �D>G<M4NF FD< D474 ?>4DO4, >464O= D47 <5=OO 
?4?>G>G. �D< 74=<>D<F5 45?4NF ?D>>>?O (6O?>?=O5F 6D4G), 4 4?O 
>G<EF>< 5D>=E>6 6O?>?=ONF G?D46=5=<O E =4>?>=4<< FG?>6<M4 < 
4OE4F5?L=O5 G?D46=5=<O: ??46=O= 64>E, D57><= 6O4>E. �?O 
G?GGL5=<O >F>4L?<64=<O <>>D>FO D>=<DGNF <OLFO 7DG4=>= 
>?5F>< < 4<4DD47<O. '4EFL 747DO7=5=<= < ?>7<5L<E >?5F>>, >5OG=> 
?>?4445F 6 ?<<D4F<G5E>GN E<EF5<G, 745 G4EF<G=> ?D>E>4<F <E 
45F>>E<>4F<O, 4 >>>=G4F5?L=4O ?5D5D45>F>4 >EGM5EF6?O5FEO 
?5G5=LN. $>=<D>64=<5 >5?4EF< ?5G5=< (�) G?GGL45F 55 DG=>F<N 
?> 45F>>E<>4F<<, D>=<D>64=<5 7DG4=>= >?5F>< G?GGL45F 
?<<D>4D5=46. $>=<D>64=<5 E?<7<EFOE 4OE4F5?L=OE ?GF5= 
G?GGL45F <E 74M<F=GN DG=>F<N. $>=<DGNF F4>65 >5?4EFL ?>G5> 
(�) 4?O G?GGL5=<O >G<EF>< >D>6< < L5==O= >F45? ?>76>=>G=<>4 4?O 
G?GGL5=<O G?D46?5=<O 6=GFD5==5= ED54>= >D74=<7<4.  
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<4< 44-47 (74=<>D<F 

D<=<F, F>=7<??<F, 5D>=E<F). 
�D>4>?6<F5?L=>EFL >GDE4. �D>F54GDO ?D>6>4OF 4> 

<EG57=>65=<O E<<?F><>6 < 5M5 >4=G =545?N, 4?O 74>D5??5=<O 
MDD5>F4. &4>>= ?>4E>4 ?>76>?O5F E>>D4F<FL 745>?5645<>EFL �$� 
5>?55 G5< 6 FD< D474. 
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�4=<>D<F 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 44. 
�D>F54GDO ?>6F>DONF 2-3 D474 6 EGF><. $5>><5=4G5FEO 

?D>F54GDO ?D>6>4<FL ?5D54 E=>< < ED47G ?>E?5 ?D>5G645=<O. 
�5D6O5 =5E>>?L>> EGF>> 65?4F5?L=> >4=G ?D>F54GDG ?D>6>4<FL 
=>GLN. 
�D< >EFD>< 74=<>D<F5 ?5D54 D>=<D>64=<5< 74=<>D>6O ?47GE< 

>5O74F5?L=> >G<M4NF >F 7=>O (?D>F54GDG 6O?>?=O5F 6D4G). 
�5?>ED54EF65==> ?5D54 ?D>F54GD>= D>=<D>64=<O 65?4F5?L=> 
>G<EF<FL =4DG6=O5 ?47GE< =>E4 (E<. >5M<= D4745?).  
�D>4>?6<F5?L=>EFL >GDE4. �D>F54GDO ?D>6>4OF 4> ?>?=>7> 

6O74>D>6?5=<O, >>F>D>5, >4> ?D46<?>, =4EFG?45F > 28 4=N ?D< 
GE?>6<< E>5?N45=<O 6E5E D5>><5=44F<=. �D< =54>EF4F>G=>EF< 
MDD5>F4 > 28 4=N D>=<D>64=<5 ?D>4>?64NF 3 D474 6 45=L 5M5 
>4=G =545?N. �D< ED>=<G5E>>< 74=<>D<F5, 4465 >>744 =5F 
>5>EFD5=<O, ?D>D<?4>F<G5E>< 2-3 D474 6 7>4 ?D>6>4OF >GDE 6 28 
4=5=. 

%E5<4 44. $>=<D>64=<5 ?D< 74=<>D<F5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � G D1 

1-2 8 5 2 1 

3-6 12 6 4 2 

7-10 16 7 6 3 

11-14 20 7 10 3 

15-18 24 7 14 3 

19-28 30 7 20 3 

$<=<F (=4E<>D>) 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 45. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF><. � ?5D6O5 =5E>>?L>> EGF>> >4=G 
?D>F54GDG 65?4F5?L=> ?D>6>4<FL 6 E5D54<=5 =>G<. � ?D>F5EE5 
D>=<D>64=<O <>7GF 6D5<5==> (=4 1-3 4=O) GE<?<FLEO 6O45?5=<O <7 
=>E4. 
�D< 4??5D7<G5E>>< D<=<F5 =5>5E>4<<> ?D>>>=EG?LF<D>64FLEO E 

6D4G>< < ?D<<5=OFL <5F>4<>G D>=<D>64=<O ?D< 4??5D7<<.  
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�D>4>?6<F5?L=>EFL >GDE4 3 2 =545?<. �D< =54>EF4F>G=>EF< 
MDD5>F4 > 14 4=N D>=<D>64=<5 ?D>4>?64NF 3 D474 6 45=L 5M5 
>4=G =545?N.  

%E5<4 45. $>=<D>64=<5 ?D< =4E<>D>5. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � G D1 

1-2 8 5 2 1 

3-8 14 6 5 3 

9-14 20 7 10 3 

&>=7<??<F (4=7<=4) 

�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 46 ?D< F5<?5D4FGD5 
F5?4 =5 6OL5 37.5 °%. �D>F54GDO ?>6F>DONF 2-4 D474 6 EGF><. 
�5D6O5 5 4=5= <<=44?<=O D>=<DGNF 6 D56<<5 1 (G4EFL 1 EE5<O 
46), 74F5< 3 6 D56<<5 2 (G4EFL 2 EE5<O 46). 
�5D54 D>=<D>64=<5< <<=44?<=O 65?4F5?L=> >5D45>F4FL 

4=F<E5?F<>>< 4?O E?<7<EFOE >5>?>G5> (=4?D<<5D, D4EF6>D>< 
�N7>?O), ?D< MF>< EF5D<?L=GN 64FG =4<4FO64NF =4 G>474F5?L=O= 
?4?5F, D<>E<DGNF =4 =5<, E<4G<64NF 4=F<E5?F<>>< < 4>>GD4F=> 557 
GE<?<O EG<M4NF =4?5F E <<=44?<= < >>DG64NM5= G4EF< 7>D?4. � 
>5?4EF< <<=44?<= (�) 6<5D>D>=O GEF4=46?<64NF E<<<5FD<G=> F4>, 
GF>5O <4>E<<4?L=> ?D<5?<7<FL <E > <<=44?<=4<.  
�D>4>?6<F5?L=>EFL >GDE4. �D>F54GDO ?D>6>4OF 4> ?>?=>7> 

6O74>D>6?5=<O, >>F>D>5, >4> ?D46<?>, =4EFG?45F > 16 4=N ?D< 
GE?>6<< E>5?N45=<O 6E5E D5>><5=44F<=. �4?55 4?O ?D>D<?4>F<>< 
D5>><5=4G5FEO 6O?>?=OFL ?D>F54GDO =4 <4>E<<4?L=>< 6D5<5=< 
(16-= 45=L EE5<O 46, G4EFL 2) 1-2 D474 6 =545?N 5M5 6 F5G5=<5 1 
<5EOF4. 
�D< ED>=<G5E>>< F>=7<??<F5 2-3 D474 6 7>4 ?D>6>4OF ?>6F>D=O= 

>GDE 6 16 4=5= 6 EF44<< D5<<EE<< (6 >FEGFEF6<< >5>EFD5=<O). 
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%E5<4 46. $>=<D>64=<5 ?D< 4=7<=5. '4EFL 1. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � � D1 

1 6 4 1 1 

2-3 10 5 3 2 

4-5 14 6 5 3 

%E5<4 46. $>=<D>64=<5 ?D< 4=7<=5. '4EFL 2.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� B M D1 

6-7 15 4 7 4 

8-12 20 8 7 5 

13-16 25 10 10 5 

�D>=E<F 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 47 6 ?>?>65=<< 

?564 =4 E?<=5. �D>F54GDO ?>6F>DONF 2-3 D474 6 EGF><. 
�>7<>6=>EFL >5>EFD5=<O. �4 2-3-= 45=L D>=<D>64=<O >5OG=> 

GE<?<645FEO >4L5?L, >>F>DO= ?>EF5?5==> 74F<E45F =4 10-14-= 45=L. 
$>=<D>64=<5 =5 ?D5>D4M4NF. 
�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 ?D>4>?64NF 4> 

?>?=>7> 6O74>D>6?5=<O, >>F>D>5 >5OG=> =4G<=45FEO ?>E?5 
6>EEF4=>6?5=<O MDD5>F<6=>7> >4L?O < >FE4D><64=<O 5>?LL>7> 
>>?<G5EF64 <>>D>FO. 
�D< ED>=<G5E>>< 5D>=E<F5 2-3 D474 6 7>4 ?D>6>4OF >GDE 6 30 

4=5= 6 EF44<< D5<<EE<< (6 >FEGFEF6<< >5>EFD5=<O). 

%E5<4 47. $>=<D>64=<5 ?D< 5D>=E<F5. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� % �4 F �1 

1 4 1 1 1 1 

2-6 16 4 4 4 4 

7-11 20 5 5 5 5 

44?55 25 10 5 5 5 
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&$���/ 

�5D5?><O >>=5G=>EF5=, >?NG<FO, D555D 

&5?L D>=<D>64=<O. $>=<D>64=<5 ?D>6>4OF 4?O E>>D4M5=<O 
ED>>>6 ?5G5=<O ?5D5?><4, 4?O ?D54G?D5645=<O >E?>6=5=<=, 
E=OF<O 7G44 < >F5>4 6 7>=5 D<>E<DGNM<E ?>6O7>>, 4 F4>65 4?O 
GE>>D5=<O 6>EEF4=>6?5=<O ?>46<6=>EF< EGEF46>6. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 48 6 ?>?>65=<< 

?564 =4 E?<=5. �D>F54GDO ?>6F>DONF =5 <5=55 4 D474 6 EGF><. � 
45=L FD46<O D>=<D>64=<5 ?D>6>4OF F>?L>> =4 >5?4EFL ?>G5> (�).  
$>=<D>64=<5 >5?4EF< ?5D5?><4 =4G<=4NF =4 2-4-= 45=L ?>E?5 

?>?GG5=<O FD46<O ?D< GE?>6<< >>474=<O 6D4G55=>= ?><>M< 
(GEFD4=5=<O E<5M5=<O, 6?D46?5=<O, < F. 4.).  
�<5D>D>=O GEF4=46?<64NF =5?>ED54EF65==> =4 >5?4EFL 

?5D5?><4, 4 F4>65 =4 74>D>6O5 G4EF< 6OL5 < =<65 <5EF4 
?5D5?><4. �D< =4?<G<< 7<?E>6OE ?>6O7>> 6<5D>D>=O 
GEF4=46?<64NF ?DO<> =4 7<?E =44 <5EF>< ?5D5?><4, 4 F4>65 ?> 
>D4O< 7<?E4 =5?>ED54EF65==> =4 F5?>. 
$>=<D>64=<5 ?5D5?><>6 >>=5G=>EF5= <>65F ?D<<5=OFLEO ?D< 

=4?<G<< <5F4??<G5E><E >>=EFDG>F<=, ?D<<5=O5<OE 4?O 6=GFD5==5= 
D<>E4F<< >>EF5=, 4 F4>65 ?D< GEF4=>6?5==>< 4??4D4F5 �?<74D>64. 
�D< MF>< =5 D5>><5=4G5FEO ?D<>D5??OFL 6<5D>D>=O 
=5?>ED54EF65==> > >>=EFDG>F<< 4??4D4F4 �?<74D>64. �<5D>D>=O 
E?54G5F GEF4=46?<64FL =4 <O7><5 F>4=< <?< =4 7<?E>6GN ?>6O7>G.  
�>E?5 E=OF<O D<>E<DGNM<E >>=EFDG>F<= 4?O 6>EEF4=>6?5=<O < 

G65?<G5=<O ?>46<6=>EF< EGEF46>6 D>=<D>64=<5 ?D>4>?64NF ?> 
EE5<5 48, => 6<5EF> >5?4EF< ?5D5?><4 D>=<DGNF =5?>ED54EF65==> 
>5?4EFL EGEF464. �<5D>D>=O GEF4=46?<64NF =4 EGEF46 DO4>< 4DG7 
E 4DG7><, >4> G>474=> =4 D<E. 2 < 3. �5?4EFL EGEF464 D>=<DGNF 6 
D56<<5 4. �> 6>7<>6=>EF< 6> 6D5<O ?D>F54GDO 6O?>?=ONF 
G?D46=5=<5 =4 G65?<G5=<5 ?>46<6=>EF< 3 E =55>?LL<< GE<?<5< 
<54?5==> E7<54NF EGEF46 6 F5G5=<5 20-30 E5>G=4, 4 74F5< F4>65 
<54?5==> D477<54NF. '?D46=5=<5 6O?>?=ONF 6 F5G5=<5 ?>?>6<=O 
?D>F54GDO. 
�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 >5?4EF< FD46<O 

?D>6>4OF 4> ?>?=>7> 746<6?5=<O, 74F5< ?D>4>?64NF D>=<D>64=<5 
>5?4EF< EGEF464 4> 6>EEF4=>6?5=<O 57> =>D<4?L=>= ?>46<6=>EF<. 
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%E5<4 48. $>=<D>64=<5 ?D< ?5D5?><5 >>=5G=>EF5=, >?NG<F, 
D555D.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 

�5=L 
� 

%?564 < E?D464 
 >F <5EF4  

?5D5?><4 <?< =44 
=<< 

�OL5 < =<65  
<5EF4 ?5D5?><4 

1 10 - - 

2-3 16 8 8 

44?55 30 15 15 

�><?D5EE<>==O= ?5D5?>< ?>76>=>G=<>4  

&5?L D>=<D>64=<O. $>=<D>64=<5 ?D>6>4OF 4?O E>>D4M5=<O 
ED>>>6 ?5G5=<O ?5D5?><4, G<5=LL5=<O >F5>4, GE>>D5=<O 
746<6?5=<O < ?D>D<?4>F<>< >E?>6=5=<=. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 49. �D>F54GDO 

?>6F>DONF 4 D474 6 EGF>< >464O5 6 G4E>6.  
�<5D>D>=O GEF4=46?<64NF E<<<5FD<G=> ?> >55 EF>D>=O 

?>76>=>G=<>4 6??>F=GN > FD46<<D>64==O< ?>76>=>4<, F4>65 
D>=<DGNF >5?4EF< 6OL5 < =<65 <5EF4 ?5D5?><4 F4>, GF>5O 6 
>5?4EFL 6>745=EF6<O ?>?4?< < 74>D>6O5 ?>76>=><, D4E?>?>65==O5 
DO4>< E FD46<<D>64==O<<.  
� E?GG45 GE<?5=<O 5>?< 6D5<O D>=<D>64=<O >5?4EF< ?5D5?><4 

=5>5E>4<<> E>>D4F<FL F4>, GF>5O 5>?L G<5=LL<?4EL 4> 
?D<5<?5<>= ?5D5=>E<<>EF<. �>?<G5EF6> ?D>F54GD 6 EGF>< ?D< MF>< 
65?4F5?L=> =5 E>>D4M4FL. 
�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 ?D>6>4OF 4> 

6>EEF4=>6?5=<O ?>76>=>G=<>4 < 5M5 2-3 =545?<. 

%E5<4 49. $>=<D>64=<5 ?D< >><?D5EE<>==>< ?5D5?><5 
?>76>=>G=<>4.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� 

%?564 < E?D464 >F 
<5EF4 ?5D5?><4 

�OL5 < =<65 <5EF4 
?5D5?><4 

1-2 7 - - 

3-5 14 7 7 

44?55 20 10 10 
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$4=4, ?>E?5>?5D4F<>==O= L>6 

&5?L D>=<D>64=<O 3 E>>D4M5=<5 ED>>>6 746<6?5=<O, 
G<5=LL5=<5 D<E>4 >5D47>64=<O DG5F>6. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 50. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF><. �>745=EF6<5 =4 >5?4EFL ?>G5> (�) < 
?5G5=< (�) ?D>6>4OF ?D< ?5G5=<< ?>E?5>?5D4F<>==OE L6>6 < ?D< 
5>?LL>= D4=56>= ?>65DE=>EF<. �D< =55>?LL<E D4=4E 6>745=EF6<5 
=4 MF< >5?4EF< =5 >5O74F5?L=>, => ?>?57=> 4?O F5?5= �$�� (EFD. 
8). �>745=EF6<5 =4 >5?4EFL D4=O <?< L64 =4G<=4NF G5D57 EGF>< 
?>E?5 >5D47>64=<O D4=O. �>745=EF6<5 =4 >5?4EFL ?>G5> (�) < 
?5G5=< (�) =4G<=4NF, >4> F>?L>> MF> EF4=5F 6>7<>6=O<. 
�G<M5==O5 >D4O D4=O >5D454FO64NF 4=F<E5?F<>><. �<5D>D>=O 
GEF4=46?<64NF G5D57 EF5D<?L=GN E4?D5F>G. 
�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 65?4F5?L=> 

?D>6>4<FL 4> ?>?=>7> 6>EEF4=>6?5=<O. 
%E5<4 50. $>=<D>64=<5 4?O 746<6?5=<O D4= < 
?>E?5>?5D4F<>==OE L6>6.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � 

1 >D4= 
D4=O 

2 >D4= 
D4=O 

1 10 10 - - 

2-4 20 10 5 5 

44?55 25 15 5 5 

�6>7 
&5?L D>=<D>64=<O. $>=<D>64=<5 E?>E>5EF6G5F E=OF<N >F5>4, 

6>E?4?5=<O, E>>D4M45F ED>>< 746<6?5=<O < G<5=LL45F D<E> 
D476<F<O >E?>6=5=<=. 
�5F>4<>4. �5G5=<5 ?D>6>4OF ?> EE5<5 51. �D>F54GDO 

?>6F>DONF 2-4 D474 6 EGF>< >464O5 6 G4E>6.  
�D< ?5G5=<< >6>7>6 2-4 EF5?5=< 4??4D4F ?D<<5=ONF ?>E?5 

?D>6545=<O E<DGD7<G5E>>= >5D45>F>< >5>665==>= ?>65DE=>EF<, 
>EGM5EF6?O5<>= 6 E>>F65FEF6<< E D47>= D4=56>7> ?D>F5EE4.  
� >5?4EF< >6>74 6<5D>D>=O GEF4=46?<64NF =4 =5?>6D5645==O5 

GG4EF>< >>6< ?> >D4O< ?>D465==>= >5?4EF<. �<5D>D>=O ?> >D4O< 
>6>74 GEF4=46?<64NF 6??>F=GN 4DG7 > 4DG7G. � 746<E<<>EF< >F 
??>M44< >6>74 >>?<G5EF6> GEF4=>6>> 6<5D>D>=>6 ?> >D4O< 
?>D465==>7> GG4EF>4 5G45F D47=>5.  
�D< >6>74E =4 ><EFOE DG> D>=<D>64=<5 >EGM5EF6?ONF E 
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?D>F<6>?>?>6=>= >F >6>74 EF>D>=O ><EF<.  

�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 65?4F5?L=> 
?D>6>4<FL 4> ?>?=>7> 6>EEF4=>6?5=<O F>4=< 6 FD46<<D>64==>= 
>5?4EF<. 
%E5<4 51. $>=<D>64=<5 ?D< >6>74E.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � 

�4 >464O= GG4EF>> 
>D4O >6>74 

1 11 5 �> 2 <<=. 

2 15 6 �> 3 <<=. 

3-6 23 8 �> 5 <<=. 

44?55 25 10 �> 5 <<=. 

'L<5, 75<4F><4 

&5?L D>=<D>64=<O. $>=<D>64=<5 E>>D4M45F ED>>< 746<6?5=<O 
< G<5=LL45F D<E> D476<F<O >E?>6=5=<=. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 52. �D>F54GDO 

?>6F>DONF 2-3 D474 6 EGF><, 4 ?D< 446=<E 75<4F><4E 3 3-4 D474 6 
EGF><. �<5D>D>=O GEF4=46?<64NF ?DO<> =4 >5?4EFL FD46<O. �D< 
75<4F><5 6 >5?4EF< 7>?>6O < 65?<7< 6=GFD5==<E >D74=>6 
?D>F54GDO ?D>6>4OF F>?L>> 6 D56<<5 1. �D< 5>?LL>= >F5G=>EF< < 
446=<E 75<4F><4E ?D<<5=ONF D56<< 4, 6 >EF4?L=OE E?GG4OE 3 
D56<< 2. 
�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 ?D>4>?64NF 4> 

?>?=>7> 6O74>D>6?5=<O. �55>?LL>= >F5>, GL<5 ?D>E>4<F 74 1-2 
?D>F54GDO. 
%E5<4 52. $>=<D>64=<5 ?D< GL<54E < 75<4F><4E.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 1, 2, 4 $56<< 2 �5=L 
�5?4EFL FD46<O � 

1 10 10 

2-4 16 16 

44?55 20 20 
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�O6<E, D4EFO65=<5 

&5?L D>=<D>64=<O. $>=<D>64=<5 E>>D4M45F ED>>< 
6>EEF4=>6?5=<O E6O7>G=>7> 4??4D4F4 EGEF464 < G<5=LL45F D<E> 
D476<F<O >E?>6=5=<=. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 53 6 ?>?>65=<< 

?564 =4 E?<=5. �4<= 6<5D>D>= GEF4=46?<64NF =4 >5?4EFL FD46<O 
(>F5>4) 6 =4<5>?55 D>6=>< <5EF5, 6F>D>= 3 =4 7-10 E< 6OL5 
?5D6>7>. �>=5G=>EFL D4E?>?474NF F4><< >5D47><, GF>5O >=4 5O?4 
6OL5 GD>6=O E5D4F4. �D>F54GDO ?>6F>DONF 2-3 D474 6 EGF><. 
�5D6GN ?D>F54GDG =4G<=4NF =5 D4=55, G5< G5D57 4 G4E4 ?>E?5 
?>?GG5=<O FD46<O ?D< GE?>6<< 6?D46?5=<O 6O6<E4 < 
<<<>5<?<74F<< EGEF464 (?D< =5>5E>4<<>EF<).  
�D>4>?6<F5?L=>EFL >GDE4. $>=<D>64=<5 ?D>4>?64NF 4> 

?>?=>7> 6O74>D>6?5=<O (6>EEF4=>6?5=<5 ?D56=5= ?>46<6=>EF< < 
7<5>>EF<). 

%E5<4 53. $>=<D>64=<5 ?D< 6O6<E4E < D4EFO65=<OE.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 4 $56<< 2 �5=L 
�5?4EFL FD46<O � 

1 10 10 

2-5 16 16 

6-9 24 24 

44?55 30 30 
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����������/ ���� 

�?4G>><4 < >4F4D4>F4 

&5?L D>=<D>64=<O. $>=<D>64=<5 E?>E>5EF6G5F 
6>EEF4=>6?5=<N >FF>>4 6=GFD<7?47=>= 6<4>>EF<, G?GGL45F ?<F4=<5 
<OLF 7?47, 7D<F5?L=>7> =5D64 < E5FG4F><. $57G?OD=>5 
D>=<D>64=<5 ?>76>?O5F: 

÷ G?GGL<FL >D>6>E=4565=<5 7?474 < G?GGL<FL 7D5=<5;  

÷ ?>445D6<64FL 6=GFD<7?47=>5 446?5=<5 6 ?D545?4E =>D<O 
<?< 5?<7><< > =>D<5;  

÷ ?>6OE<FL MDD5>F<6=>EFL 45=EF6<O ?5>4DEF65==OE 
?D5?4D4F>6; 

÷ 74<54?<FL 457D444F<N EFDG>FGD 7?47; 
÷ G?GGL<FL E4<>GG6EF6<5. 
$>=<D>64=<5 >5OG=> ?D<<5=O5FEO, >>744 ?5>4DEF65==O5 

ED54EF64 =5 44NF 4>EF4F>G=>7> MDD5>F4, <?< 65 >>744 
6=GFD<7?47=>5 446?5=<5 =>D<4?<7>64=>, 4 7D<F5?L=O5 DG=>F<< (6 
?5D6GN >G5D54L 3 ?>?5 7D5=<O), =5E<>FDO =4 ?D>6>4<<GN 
?5>4DEF65==GN F5D4?<N, ?D>4>?64NF GEG4L4FLEO. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4<FEO ?> EE5<5 54 < <>65F 

E>G5F4FLEO E <5EF=>= 7<?>F5=7<6=>= F5D4?<5= (74>4?O64=<5 
>4?5?L). �D>F54GDO ?>6F>DONF 1-2 D474 6 EGF><. �D< =4?<G<< 
4DG7<E 745>?564=<= 7?47 (?><<<> 7?4G>><O < >4F4D4>FO) 
=5>5E>4<<> ?D>>>=EG?LF<D>64FLEO E 6D4G><. 
�E>55==>EF< GEF4=>6>< 6<5D>D>=>6 6 >5?4EF< 7?47 G>474=O =4 

D<E. 6. 
�D>4>?6<F5?L=>EFL >GDE4 3 3 <5EOF4. �4?55 ?D>6>4OF 

?>445D6<64NM<5 ?D>F54GDO 3 1, 2 ?D>F54GDO 6 =545?N, 4 F4>65 
?>E?5 ?>6OL5==OE =47DG7>> =4 7?474 ?> EE5<5, G>474==>= 6 EFD>>5 
«44?55». �>6F>D=O= >GDE 3 G5D57 6 <5EOF56. 
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%E5<4 54. $>=<D>64=<5 ?D< 7?4G>><5 < 4?O ?D>D<?4>F<>< 
>4F4D4>FO.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � 

�56O= 
7?47 

�D46O= 
7?47 D1 �40 

1-2 8 4 1 1 1 1 

3-6 14 6 2 2 2 2 

7-10 20 8 3 3 3 3 

11-14 26 10 4 4 4 4 

44?55 30 10 5 5 5 5 

%&���&�����/ 

�DF>4>=F<O (5D5>5F-E<EF5<O) 
&5?L D>=<D>64=<O - �=4G<F5?L=>5 G<5=LL5=<5 5>?< ?D< 
>DF>4>=F<G5E>>< ?5D5<5M5=<< < >>DD5>F<< 7G5>6 E ?><>MLN 
5D5>5F-E<EF5<. �>6OL5=<5 >><D>DF=>EF< ?5G5=<O. �OD465==O= 
4=F<54>F5D<4?L=O= < ?D>F<6>6>E?4?<F5?L=O= MDD5>F, 
>55E?5G<64NM<= ?D>D<?4>F<>G ?4D>4>=F<F4. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 55. 
�D>F54GDG ?>6F>DONF 1 3 3 D474 6 EGF><. 

�E>55==>EF< GEF4=>6>< 6<5D>D>=>6 6 >5?4EF< 65DE=5= < 
=<6=5= G5?NEF< ?>>474=O =4 D<E. 8 

%E5<4 55. $>=<D>64=<5 ?>E?5 4>F<64F<< 5D5>5F-E<EF5<O.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 3 $56<< 1 
�5=L �5DE=OO 

G5?NEFL 
Z1 

�<6=OO 
G5?NEFL 

Z2 

�5DE=OO 
G5?NEFL 

Z1 

�<6=OO 
G5?NEFL Z2

1 - - 5 5 

2 < 44?55 3 3 3 3 

� E?GG45 =54>EF4F>G=>EF< MDD5>F4, GEF4=>6<F5 7=4G5=<5 

$���� 4 6<5EF> $���� 3 < $���� 2 6<5EF> $���� 1. 
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 �4D>4>=F>?>7<O (?4D>4>=F<F, 7<=7<6<F) 
 &5?L D>=<D>64=<O - �OD465==O= < 5OEFDO= (G65 ?>E?5 ?OF< 
?D>F54GD) ?D>F<6>6>E?4?<F5?L=O= MDD5>F. 
'EFD4=5=<5 4<EFD>D<G5E><E ?D>F5EE>6 6 >5?4EF< ?4F>?>7<G5E>>7> 
>G474 6 6<45 6>EEF4=>6?5=<O F5?>EF=>EF< >>EF=>= F>4=< 
4?L65>?OD=OE >FD>EF>>6. 
�OD465==O= 4=F<54>F5D<4?L=O= MDD5>F. 
 �5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 56. 
�D>F54GDO ?>6F>DONF 1 3 3 D47 6 EGF><. 

%E5<4 56. $>=<D>64=<5 ?D< ?4D>4>=F<F5 < 7<=7<6<F5. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 1 �5=L 
�5DE=OO G5?NEFL 

 Z1 
�<6=OO G5?NEFL 

 Z2 

1 5 5 

2 < 44?55 10 10 

� E?GG45 =54>EF4F>G=>EF< MDD5>F4, GEF4=>6<F5 7=4G5=<5 

$���� 2 6<5EF> $���� 1. 

�G5=4O 5>?L 
&5?L D>=<D>64=<O 3 G<5=LL<FL < E=OFL 5>?L. $>=<D>64=<5 =5 

>F<5=O5F GEFD4=5=<5 ?D<G<=O 5>?< (=4?D<<5D, >4D<5E), ?>MF><G 
=5>5E>4<<> >5D4F<FLEO > EF><4F>?>7G. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 57. �D>F54GDO 

?>6F>DONF 3-4 D474 6 EGF><. �D5<O D>=<D>64=<O >5?4EF< 7G54 
G65?<G<64NF ?>EF5?5==> (>4> G>474=> 6 EE5<5), F4> >4> ?D< D57>>< 
G65?<G5=<< 4>7O D>=<D>64=<O <>6=> 6O764FL >5>EFD5=<5 D54>F<< 
< GE<?5=<5 5>?<. 
�<5D>D>=O 6 >5?4EF< �/�1 (D<E. 7) GEF4=46?<64NF E> EF>D>=O 

5>?L=>7> 7G54 E?54GNM<< >5D47><: >4<= 6<5D>D>= 3 =4 >5?4EFL 
?<<D4F<G5E>>7> G7?4 (�), 6F>D>= 3 G >E=>64=<O G5?NEF< (B1). 
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%E5<4 57. $>=<D>64=<5 ?D< 7G5=>= 5>?<. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 
2 

$56<< 1 �5=L 

� � �5?4EFL �/�1 �5?4EFL 7G54 

1 10 5 3 2 

2-4 16 8 4 4 

5-7 20 10 5 5 

����������/ ',�� 

�5=D>E5=E>D=4O FG7>GE>EFL 
&5?L D>=<D>64=<O 3 G?GGL<FL >D>6>E=4565=<5 E?GE>6OE 

D5F5?F>D>6, 6>EEF4=>6<FL E?GE>6GN DG=>F<N.  
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 58. �D>F54GDO 

?>6F>DONF 1-2 D474 6 EGF><. 
�D< >4=>EF>D>==5= FG7>GE>EF< 6<5D>D>=O GEF4=46?<64NF =4 

>5?4EF< � < �1 (D<E. 7) E> EF>D>=O 5>?L=>7> GE4; ?D< 46GEF>D>==5= 
FG7>GE>EF< 3 6>745=EF6GNF ?>>G5D54=> =4 ?56>5 < ?D46>5 GE>. 
�>745=EF6<5 =4 >5?4EF< � < �1 ?D>6>4OF 6 ?>?>65=<< E<4O, =4 
>5?4EF< D1, D2, � 3 ?564 =4 E?<=5. $>=<D>64=<5 E>D>L> 
E>G5F45FEO E <54<>4<5=F>7=>= F5D4?<5=, =47=4G45<>= ?5G4M<< 
6D4G><. 
�D>4>?6<F5?L=>EFL >GDE4 3 3 <5EOF4 < 5>?55 4> F5E ?>D, ?>>4 

?D><EE>4OF G?GGL5=<O. �4?55 ?D>D<?4>F<G5E>< ?> 1 <5EOFG 1-3 
D474 6 7>4. 

%E5<4 58. $>=<D>64=<5 ?D< =5=D>E5=E>D=>= FG7>GE>EF<.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � D1 D2 A/A1 

1-2 9 5 2 2 - 

3-6 12 5 2 2 3 

7-10 20 5 4 4 7 

44?55 25 7 4 4 10 
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�F<F. �>E?4?5=<5 GE4  

&5?L D>=<D>64=<O 3 >>474FL ?D>F<6>>F5G=>5, 
>5575>?<64NM55, ?D>F<6>6>E?4?<F5?L=>5 45=EF6<5. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 59. %=4G4?4 ?564 

=4 E?<=5 D>=<DGNF >5?4EFL �, �, D1 < D2 (G4EFL 1 EE5<O). �4F5< 6 
5>?L=>5 GE> 74>4?O64NF 2-3 >4??< 5>D=>7> E?<DF4 <?< <=>7> 
?D>F<6>6>E?4?<F5?L=>7> ED54EF64. �4>4?O64=<5 6O?>?=ONF ?564 
=4 F>< 5>>G, 745 =4E>4<FEO 74>D>6>5 GE>. '5D57 3-5 <<=GF, =5 <5=OO 
?>?>65=<O (=4 5>>G), D>=<DGNF >5?4EFL �/�1 =4 ?5D6>< D56<<5 
(G4EFL 2 EE5<O). �4<= 6<5D>D>= GEF4=46?<64NF =4 >5?4EFL �, 
4DG7>= 3 =4 >5?4EFL �1 (D<E. 7). �D>F54GDG (>55 G4EF<) ?>6F>DONF 
2-3 D474 6 EGF><. 
$>=<D>64=<5 65?4F5?L=> =4G<=4FL ?D< ?5D6OE E<<?F><4E 

745>?564=<O, 4 F4>65 6 F5?OE 57> ?D>D<?4>F<>< ?D< 
?5D5>E?4645=<<. �D< >EFD>< 6>E?4?5=<< D>=<D>64=<5 ?D>6>4OF 
F>?L>> 6 E>G5F4=<< E ?D>F<6>6>E?4?<F5?L=O<< ?D5?4D4F4<< < ?>4 
=45?N45=<5< 6D4G4. 

%E5<4 59. $>=<D>64=<5 ?D< >F<F5. '4EFL 1.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � D1 D2 

1 11 5 3 3 

2-3 15 7 4 4 

4-7 20 10 5 5 

%E5<4 59. $>=<D>64=<5 ?D< >F<F5. '4EFL 2. �>E?5 74>4?O64=<O 
?D>F<6>6>E?4?<F5?L=OE ED54EF6. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 1 �5=L 
�5?4EFL �/�1 

1 5 

2-4 7 

5-7 10 
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����$��/ 

&5?L D>=<D>64=<O: G?GGL5=<5 DG=>F<< ?5G5=< < 
D575=5D4F<6=OE ?D>F5EE>6.  
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<4< 60, 61 6 

746<E<<>EF< >F 6>7D4EF4. �D>F54GDO ?>6F>DONF 1-3 D474 6 EGF><. 
�D>4>?6<F5?L=>EFL >GDE4 3 3 <5EOF4. �GDE ?D< 

=5>5E>4<<>EF< ?>6F>DONF ?>E?5 ?5D5DO64 6 5 4=5=. �4?55 6 F5?OE 
?D>D<?4>F<>< ?D>6>4OF >GDE 6 1 <5EOF 1-3 D474 6 7>4 (?5D54 
=4G4?>< ?5D<>44 4??5D7<G5E><E >5>EFD5=<=). 

%E5<4 60. $>=<D>64=<5 ?D< 4??5D7<< G 67D>E?OE < 45F5= 
EF4DL5 10 ?5F. 

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � �5 �40 

1-2 9 3 3 3 

3-6 15 5 5 5 

7-10 21 7 7 7 

11-14 27 9 9 9 

44?55 30 10 10 10 

 
%E5<4 61. $>=<D>64=<5 ?D< 4??5D7<< G 45F5= 4> 10 ?5F.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� � �40 

1-2 10 5 5 

3-6 14 7 7 

7-10 18 9 9 

44?55 20 10 10 
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-�'$�� � -����$�� 

&5?L D>=<D>64=<O. $>=<D>64=<5 G?GGL45F >D>6>E=4565=<5 
E?<==>7> <>774 < >D74=>6 D<7<>?>7<G5E>>7> >F?D46?5=<O, GE<?<64O 
F5< E4<O< <>M=>EFL E<7=4?>6 6 <>77. ' ?D>F54GDO D>=<D>64=<O 
5EFL 5M5 >4<= 646=O= ??NE: >=4 ?>76>?O5F D<>E<D>64FL 6=<<4=<5 
D555=>4 =4 MF>< GG4EF>5 57> >D74=<7<4 < E?>E>5EF6>64FL 6OD45>F>5 
D5D?5>E>6 ?>O6?5=<O >MGM5=<O:  

- ?>7O64 =4 <>G5<E?GE>4=<5 6>6D5<O, 4 =5 F>744, >>744 <>G56>= 
?G7ODL ?5D5?>?=5=; 

-?>7O64 =4 45D5>4F<N 6>6D5<O, 4 =5 F>744, >>744 F5D?5FL G65 
=56>7<>6=>. 

 �<5==> ?>MF><G 45FO< ?GGL5 ?D>6>4<FL D>=<D>64=<5 
=5E>>?L>> D47 6 45=L. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<4< 62 < 63 6 

746<E<<>EF< >F 6>7D4EF4. �D< =54>EF4F>G=>EF< MDD5>F4, 4 F4>65, 
5E?< D555=>> 6O? < =54>F<65=, D>=<D>64=<5 ?D>6>4OF ?> EE5<4< 
64 < 65. �D>F54GDO ?>6F>DONF 2-3 D474 6 EGF><. 

%E5<4 62. $>=<D>64=<5 ?D< M=GD575 < M=>>?D575 4?O 45F5= 4> 
10 ?5F.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 1 �5=L 
��* �3 �4 

1-5 5 5 5 

44?55 10 7 7 

%E5<4 63. $>=<D>64=<5 ?D< M=GD575 < M=>>?D575 4?O 45F5= 
EF4DL5 10 ?5F.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
��* �3 �4 

1-5 5 5 5 

44?55 10 10 10 

�� - >5?4EFL <>G56>7> ?G7ODO 
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%E5<4 64. 'E<?5==4O <5F>4<>4 D>=<D>64=<O ?D< M=GD575 < 
M=>>?D575 4?O 45F5= 4> 10 ?5F.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 1 �5=L 
� ��* �3 �4 D1 D2 

1-5 5 5 5 5 2 2 

44?55 10 10 7 7 3 3 

%E5<4 65. 'E<?5==4O <5F>4<>4 D>=<D>64=<O ?D< M=GD575 < 
M=>>?D575 4?O 45F5= EF4DL5 10 ?5F.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 �5=L 
� ��* �3 �4 D1 D2 

1-5 5 5 5 5 2 2 

44?55 10 10 10 10 3 3 

�� 3 >5?4EFL <>G56>7> ?G7ODO 
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%�%�$�/� �����& 

&5?L D>=<D>64=<O 3 G?GGL5=<5 ?<F4=<O >?5F>>, GG4EF6GNM<E 
6 ?D>F5EE5 D57G?OF<<, G?GGL5=<5 >5M57> E4<>GG6EF6<O < 
?D>D<?4>F<>4 >E?>6=5=<= E4E4D=>7> 4<455F4. 
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 66. �D>F54GDO 

?>6F>DONF 2 D474 6 EGF><. �5?4EFL �9 3 ?D>5>F<O ?>465?G4>G=>= 
65?57O =4 6<6>F. -FG >5?4EFL ?GGL5 4>?>?=<F5?L=> > EE5<5 
D>=<D>64FL ?> 5 <<=GF 6 ?5D6O5 30 <<=GF ?>E?5 >464>7> ?D<5<4 
?<M<. 
�D>4>?6<F5?L=>EFL >GDE4 3 >F 3 <5EOF56 < 5>?55 4> F5E ?>D, 

?>>4 ?D><EE>4OF G?GGL5=<O. �4?55 ?D>6>4OF ?>445D6<64NM<5 
?D>F54GDO 1-2 D474 6 EGF>< 5-7 4=5= 6 =545?N. 

%E5<4 66. $>=<D>64=<5 ?D< E4E4D=>< 4<455F5.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 
2 

$56<< 1 �5=L 

� � �9 �11 �2 �21 

1-2 10 2 2 2 2 2 

3-6 15 4 3 3 3 2 

7-10 20 6 4 4 3 3 

11-14 30 9 8 5 4 4 

44?55 35 10 10 5 5 5 

%$���'�%��� ����&�& 

&5?L D>=<D>64=<O. $>=<D>64=<5 >5?4EF< ?5G5=< (F 
?D464O/�4 ?D464O) G65?<G<645F <=F5=E<6=>EFL <<<G==OE 
D54>F<=, GF> ?D<6>4<F G 5>?L=OE 75?4F<F>< � < % > <=>7>>D4F=><G 
G65?<G5=<N <=F5DD5D>=4 6 >D>6<. �D4>F<G5E><= D57G?LF4F >F 
?D>F54GD D>=<D>64=<O =5 GEFG?45F ?5>4DEF65==>= F5D4?<< 
<=F5DD5D>=>6O<< ?D5?4D4F4<<: ?D<<5D=> 40% ?>?=OE D5<<EE<= 
(�&$ <<=GE, ��& 3 =>D<4) F>?L>> 74 >4<= >GDE D>=<D>64=<O (6-12 
<5EOF56). �?47>44DO 6>745=EF6<N =4 >5?4EFL ?>G5> (�) < 7DG4=>= 
>F45? ?>76>=>G=<>4 D>=<D>64=<5 ?5D5=>E<FEO E>D>L> E 
G?GGL5=<5< E4<>GG6EF6<O.  
�5F>4<>4. $>=<D>64=<5 ?D>6>4OF ?> EE5<5 67. $>=<D>64=<5 

>5?4EF< ?5G5=< (F ?D464O/�4 ?D464O) ?D>6>4<FEO 1 D47 6 
=545?N < 1 D47 6 EGF>< (!). � MF>F 45=L 6>745=EF6<5 =4 4DG7<5 
>5?4EF< =5 >EGM5EF6?O5FEO. � >EF4?L=O5 6 4=5= =545?< 
6>745=EF6<5 >>47O645FEO =4 >5?4EF< �, �, �11, �2, �21 4?O 
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=4>>??5=<O >5M<E D5EGDE>6 >D74=<7<4 < ?D>F54GDO ?>6F>DONF 2 
D474 6 EGF><.  
�5?4EFL F (?D464O) <7>5D465=4 =4 D<E. 4, 4 >5?4EFL �4 (?D464O) 

=4 D<E. 8. 
�D>4>?6<F5?L=>EFL >GDE4. �GDE <>6=> ?>6F>DOFL =5E>>?L>> 

D47 ?>4DO4 4> 4>EF<65=<O D5<<EE<<. 

%E5<4 67. $>=<D>64=<5 ?D< 75?4F<F5 � < %.  

$56<<, >5?4EF< < 6D5<O D>=<D>64=<O (<<=) 

$56<< 2 $56<< 1 $56<< 2 �5=L 
� � �11 �2 �21 

F ?D464O/ 
�4 ?D464O 

1 9 3 2 2 2 - 

2 11 4 3 2 2 - 

3 13 5 3 3 2 - 

4 15 6 3 3 3 - 

5 17 7 4 3 3 - 

6 19 8 4 4 3 - 

7 - - - - - 5 

8 20 8 4 4 4 - 

9 21 9 4 4 4 - 

10 23 10 5 4 4 - 

11 25 11 5 5 4 - 

12 27 12 5 5 5 - 

13 28 13 5 5 5 - 

14 - - - - - 7 

15 29 13 5 5 5 - 

16 30 14 5 5 5 - 

17-20 30 15 5 5 5 - 

21 - - - - - 13 

22-27 30 15 5 5 5 - 

28 - - - - - 15 

29-34 30 15 5 5 5 - 

1 45=L 6 =545?N - - - - - 15 

6 4=5= 6 =545?N 30 15 5 5 5 - 
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44D5E M?5>FD>==>= ?>GFO: info@vitafon.ru 

F5?5D>=O 4?O E?D46>>: 
8 800 100-19-45 (76>=>> ?> $>EE<< 55E??4F=O=) 

(812) 783-36-02 
(812) 747-26-48 
(812) 747-26-27 

www.vsegdazdorov.ru  
www.vitafon.ru 

 
 
 

�4D5E ?D54?D<OF<O-<77>F>6<F5?O: 
198097, %4=>F-�5F5D5GD7, 
�7>D>4=O= ?5D., 4. 23 

 

�4D5E 4?O ?>GF>6OE >F?D46?5=<= (D5<>=F): 
198096, 7. %4=>F-�5F5D5GD7, 4/O 28, 

��� «�<F4D>=» 
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